-

_ &

Professor Academy

Pl TRR

OIAIE LEVEL MUGK [ESI
COMMERCE

Question Paper ]

& 7070701005 | 707070 1009



P GT 2 0 2 5 Question Booklet Series Question Booklet Serial No.

alleimg QSMTGSLINGIETET LISSRISETE 6TEHuI6N&Hemns

No. of pages in Question Booklet :

1. Gsiey etessr (Caiey ain® &L 1960 2 aTareummny)
Roll No. (As in Hall ticket)

2. LUTLLD

Subject

3. OMR aflewr_ggmar eressr (alewressiLiigmaGo BloLin Geuesst(H)Lb)
OMR Answer Sheet No. (To be filled in by the candidate)

4. fewrewrLiugmyfer Quuwg (aflessenrLin Ly asSed BlaLiluyeTariiyg)

Candidate's Name (As given in Application form)

5. alewressiLiigmyflet ewaQuimlivih (aflessenrLin Ly augSed BloLilueTarLiyg

Candidate's Signature (As given in Application form)

6. sewrsmewtLiLimaTHes e9%O wmLiLiLh

Invigilator’s Signature

@5 alerrsgraficd 180 Csmarghleiens allermsser 2 erearet. ()55 aflertsg 0% mELiLITeIS ()1
UGS samaer GsmeniL_g. UGSH-"y"-afled 30 aflasrTaser 2 6rerer. aflesm etewr 1 (LpFed 20 cueny
@uewt(y wHLiCuey aermgserd, 21 s 30 eueny @@ WHLIO LT @lerTEsenL
Osrewr@orerg. ug®H ="' 150 @@ wWPLICUey larTssmars 6% TR aT6TS).
leTenTLiLISTIT 9eoatds allarTssers@Hl allenl_welds Couast(hd Seupaest allenl % @n% @
L@ LIC)LIGHT GDIHHLILIL LOTL L 1.

This booklet contains 180 multiple choice questions. This Question Booklet is made up
of 2 Parts. Part "A" contains 30 questions (Q. No. 1 to 30). Q. No. 1 to 20 is of 2 marks each.
Question No. 21 to 30 is of 1 mark each. Part "B" contains 150 questions (Q. No. 31 to
180). Each question is of 1 mark each. There is ho negative marking for wrong answetr.

ggnenent erewt (Ms) erewr 49, wells euears (M) grewm mmrar 23.05.2022 eriig wapmy
Spestranser s L_mw ) Cspiaiel)Brs allevssallEsLilil’ (b)erTeresty.

As per GO (Ms) No. 49, Human Resources (M) Department, dated 23.05.2022 differently
abled candidates are exempted from the Compulsory Tamil Language eligibility test.
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aflesresrLitigryCr sRlwrss BlyLiu CeuessBLo.
Candidate alone should fill the Question Booklet Series correctly at the prescribed place in the
OMR Answer Sheet.
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Candidates should verify the subject of the question paper given to him/her. If the subject is
changed inform the Hall Superintendent immediately.
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Read Instructions completely and carefully and fill in the details from SI. No 1 to 16 in the OMR
Answer Sheet and Sl. No. 1to 16 in the Question Booklet. If you fail to fill in the details and sign as
instructed correctly, you will be personally responsible for the consequences arising during scanning
of your OMR Answer Sheet

. sauprs LYis® Oeuiwlin@w/ Qsiwuliu moe 2etar OMR allen_gsri ser wHLf 19P@ B S55
Q@ marer L om "L 1g).

OMR Answer Sheets will not be evaluated if the OMR Answer Sheet is filled in wrongly/unfilled
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OMR Answer Sheet No. should be written in the space provided in the Question Booklet.
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The Question Booklet comprises of 24 pages having 180 questions. After being instructed to open
the Booklet, then only the candidates should open the Question Booklet seals. Check whether the
Booklet contains 180 Questions starting from page No. 3 to 20.
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All questions are of MCQ (Multiple choice question) type. There is only one correct answer to each
question. There will be no negative marking for wrong answers.
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All questions other than language questions are in bilingual. (Except Tamil and English Subjects)
afestm (Bsa6T) @6 seupsar @) @pLiller, Csiailer Cung @Qps aflert ($s6r1) #f Oeuiwiu or' L 1g.

In event of any mistake in any question/s, no corrections will be made in the Question/s during the
examination.
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Rough work, it any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shall be provided.
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Use of Log tables, Calculators, Slide rules, Mobile Phone, Pager, Digital Diary or any other electronic
item/ instrument etc. in the examination hall is not allowed. Their use will result in disqualification.
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This Model Question Paper Prepared by Professor Academy.
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The Question Booklet will be issued to the candidates at 9.50 am and the candidates must fill in all
entries in Question Booklet and OMR Answer Sheet. Candidates should open the question booklet
seal after a long bell at 10.00 am. After opening the Question Booklet, ensure that any page/question
is not missing/not printed/torn/ repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Room Invigilator and get it replaced by him. Warning Bell will ring at
1.25 pm, and the last long bell will ring at 1.30 pm.
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Write your Roll No. OMR Answer Sheet No., Question Booklet Series, Name and put your signature
in the space provided in the Question Booklet as well as in the OMR Answer Sheet.
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With each question, you will find four possible answers, marked by the letters A, B, C and D. Read
each question carefully, and find out which answer, according to you is correct. Indicate your
answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding to
the question. For marking answer, use Black Ball Point pen only.
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OMR Answer Sheet is designed for computer evaluation. If you do not follow instructions given
above and shown in the OMR Answer Sheet, evaluation by computer will become difficult. Any
resultant loss to the candidate on the above account, shall be of the candidate only.
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No candidate should leave the examination hall before the final bell. The OMR Answer Sheet

should be handed over to the Room Invigilator before leaving the examination hall. The candidate is
allowed to take the Question Booklet with him/her.
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Part B- COMMERCE

31. Which of the following is a non-tariff
barrier to international trade?

(A) Import duties

(B) Product standards

(C) Export subsidies

(D) Countervailing duties

31. 5J6UCHEF 6U]5HSHE5SHHM &6 euiflullevevr
SHMLILITS LI6T6d (T 6U6mTeUMMIGL 6TH)|
2_6Ieng)|?

(A) @M&ELOE) euifl g6

(B) HSWIMHILIY SJH6n60S61T

(C) JMHMILD G LOM6BTILIMRIG6NT

(D) FF(H Q&I 6l &6

32. The Balance of Payments of a country
records

(A) Only flow of goods and services among
countries

(B) All economic transactions between
residents of a country and rest of the world
(C) Only the flow of capital between countries
(D) Only the government's revenue and

expenditure

32. 62( BTLIq.607 CF VIS Siblenew G (bLILY
sTeuMenMLI LIFle) Q&S ME)?

TRB

(A) BTHSE5H5E Q6L Guiwimest QIUIT(HL &6l

LMHMILD CFmeUSHEMEIT 6L L &0 DL (HLD

(B) €2 BITL_1q.60T Gl W[ LILITENMT &1 SGSLD
2 605160T LNM LGS 56155 GLD @6t Guiutmest
SIM60T S G| QLITHETTSHTT
L1601 & & 65)63T &H60I6IMIL| LD

(C) BT(HSE55HE Q6L GLILITEIT CLH6V G 6T
L L H6mg oL (HLD

(D) SIJ&F MGG S60T 62(IH6UMILI LDDHM)ILD

Q&eLa6ETSH MG LOL(HLD

33. FDl in India is allowed by two modes -
Government route and

(A) Trade route

(B) Bank route

(C) Automatic route

(D) Approved route

33. QbSwmeilsd sibH Chlg. (WHeSE
@neiur(® euLfSafleL SIsBILSSSLILGS MG -
SI7& QILfl LHMID

(A) Q&S auLfl

(B) 6UMRI&) LA

(C) HMesNIMI&) L

(D) HMISSHSSHLILLL el
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34. ASEAN is a trade arrangement among 10
member countries of Southeast Asia, which
exclude

(A) India

(B) Laos

(C) Vietnam

(D) Brunei

34. ), SILIMEDT (ASEAN) 6T6OTLIG) Q1S ETHLD &S
ShAuwireiles 10 2 MILIL BT(HSEHSHS

@ 6L GILITesT €2 (Ih 61T &S JOUIT(H S GLD,
@ glev anevssLLI(haUS (CFTTH BHT(H):

(A) @bEHwim

(B) eomGeumerv
(C) NWIL_[BITLD

(D) L, Geur

35. A, B and C share profit and loss in the
ratio of 3:2:1. What will be the new profit
sharing ratio of A and C, if B retires from the
business?

(A) 3:2

(B) 2:1

(C) 3:1

(D) 1:3

35. A, BLOMMILD C Y HCWIMTT Qe0mLSHemSU|Ld
BLL &M U|LD 3:2:1 6T60TM Q151G & Hl6L
LU&THE! Cl&men&lediment(y. B
eNwWImuUmy& el (Hh! epllie QUMMITEL, A

TRB

LOMHMILD C-udNest LSt @eomLLi LISljey
QI&IGLD 6T6OT60TEUTS @\(Ih &G LD?

36. Given below are two statements. One is
labeled as Assertion (A) and other is labeled
as Reason (R).

Assertion (A): Vouching is the examination of
evidence which is in support of transaction.
Reason (R): Verification is used
comparatively in very limited sense.

In the light of the above statements choose
the correct answer from the options given
below:

(A) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A)

(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct

36. $CLp Q6H(H FoHMIGHET
Q&MHSSLILIL (H6Teren. 6601
QUEOILIMISHH6L (Assertion) (A) 6TETMILD
LOMEOMTETM) STTEHIILD (Reason) (R) 6T60TMLD
QuuflL LU (BeiTeng).

QULMISHSH6L (A): 6 &SR 6T6OTLIG)
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LISl 6)1] 5 5606015 4, SHT6UTS 2_6iTer
BSMTHMS BTMLIEUSTGSLD.

SITJEUOILD (R): FHILIMITLIL| 6T60TLI)

LIS L_eneleL A& 6 LD & emmev et
2NT5SSHE0 LILGTLGSSILGADS!.
GCLM &L Fa MM SHerileiLig., SGLD
QamE&sLUL (Bemerm e (b LUMS6Me (HHE)
Fluimest USHenevd CHINMHGH(H &S 6 LD:
(A) (A) LDOMILD (R) T6sur(BLDd &Fliment S|
LOMMILD (R) 6T6ATLIG)] (A)-&SHIT6T FIFlUIT6T
TS &HLOMGLD

(B) (A) LOMMILD (R) @ y6vor(hLD &IFIWLITETTS),
SL,6TTITEV (R) 6T6TLIG)| (A)-&SIT6UT & IflLIT6nT
QET&HSLD {606V

(C) (A) EHILITETTG, 24,6076V (R) FIFIUITEIT S|
SI6L6V

(D) (A) EILITETTS| SI6L6V, S, 636D (R)

gl g

37. Which one is not a Personal Account?
(A) Prepaid salary account

(B) Bank account

(C) Proprietor’s account

(D) Patent account

37. L96t161(Th 6U60TEUMMIGL 6T&H| S, 61TEFITIT
&H6005HE H6L6V?

(A) (P 60T&aL g Gl QIFeVISH S FLDLIETS

TRB

&60016:&
(B) 6UMIGS &60016(S
(C) 2_BlemLowlmenifl 65T &60015(S)

(D) &MTLUYfl6MLD & &H6T018:&)

38. In accounting, profit prior to incorporation

is treated as

(A) Capital reserve
(B) Revenue reserve
(C) Secret reserve

(D) General reserve

38. S5 &ILLI60I6V, HM)6)6vTLD
SIDIULSDES (PHEMSIL
@eomuLbéteueUTM) &(BHSLILGHMGI?
(A) CLDEVG6TT8 SITLILY

(B) 6U(IH6UMUIE SITLIL|

(C) QUs&AIWS ST

(D) QUM STLIL|

39. When the fixed cost is Rs. 14,000, profit is

Rs. 6,000 and sales Rs. 1,00,000 then P/V
ratio will be

(A) 14%

(B) 20%

(C) 25%

(D) 30%

39. hlemevulmest Cl&F6v 6 (fixed cost) €. 14,000,

@eomuLd €. 6,000 LOMHMILD ENMHLIEHEDT €.

P.T.O



1,00,000 6763116V, P/V Q&G LD 6T60T6TTEUTS (A) Share Capital

A(B&HGLD? (B) Current liabilities and Provisions

(A) 14% (C) Contingent liabilities

(B) 20% (D) Reserves and Surplus

(C) 25% 41. URIG &6 Qeueuii_1g 60 QUL L
(D) 30%

NiF Wb @k LILHeM6VS GMLILN6L 6THG
40. If bonus shares are issued out of pre- SEmeLLILN6I SLD ML L LIL(GEHME?

acquisition profit, it will have (A) LIRI@ L6V &6UTLD
(A) Direct effect on the consolidated balance (®) BLLIL Qurrgul'JLI&':G'TT mﬁ)@m JOUTESET
sheet

(C) HMHQFULI6L QUITM)LIL|SHEIT
(B) No effect on the consolidated balance 5D ity
sheet (D) SITLIL&6T LOMHMILD 2 Liff)

(C) No effect on net profit 42. Which of the following is not a key

(D) None of the above characteristic of Activity Based Costing

40. MSWSILBHSSHIUSDS (LPHemS LI (ABC)?

Q6oL Sed @(‘BE@J GUTEITErV LIRIG 6T (A) It emphasises direct labour hours as the

QJQerIBSILILII;I_rrGi) 215 TS primary cost driver

Qemed o (B) It focuses on identifying and assigning
&IT600Tlq. (Ih &HGLD?

cost to activities

A Al &) 60) 60T i 60
#) B EREDTILS QUL (C) It helps in understanding the real cost of

2IMi&m&UNeL CHlg allenerey products and services

(B) 62 (5 I&l6m6unH % @) (I LILHI6meVL (D) It can be used to improve pricing and
SIMN&MHUTNCD a)lemaney] @666y product mix decisions

(C) H&T @evmug &lev aleneney QeL6n60 42. 1N6dT6)(I eu6TTEUMMIEL 615 QFWIeLLIT(H
(D) GLOMH &ML 6THI6L LD @6LEMEV Sllq LiLemL_ufevment CQ&eve6urs

) . ) . SH600TSHSL_1q 60T (LD S S\ LI6TITL| 31606V ?
41. Premium received on issue of shares is .69 (P H 3

shown in the Balance Sheet under the head (A) @& GBIl 2 LI CHISEMS (LS 6aT6mLD

QF606)] QUISEHSHTE QU MISHIHME)
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(B) @ &I BL_ 611986185 (61h & SIT6uT
Q&606)&H6M6TS ST MIHG] 62 515G 6UH 6L
&6UETILD QF VIS HHM G

(C) @& QUT(KL_&eT LMHMILD C&Feneuderleot
9_6UUI6MLOLLIMEDT GlFevem6d Liflh Gl Q&meiTen
2 56|SM)

(D) @& e1l6m6v HIT6UOTLILD LOMHMILD SUIMFILIL
&6V6mel (LPlg 6)SHemer GLLUBLSS

LIwesTU(h& SLILIL 6VITLD

43. The ratio of variable cost to sales is 70
percent. The Break-even point occurs at 60
percent of the capacity sales. When fixed
costs are Rs. 90,000, capacity sales will be
(A) Rs. 3,00,000

(B) Rs. 5,00,000

(C) Rs. 3,75,000

(D) Rs. 2,10,000

43. ML 6ITULIIEL LDTM & &orlq Ut Cl&F 6V 6T6oT
Q&G 70 FHOTBLD QY GLD. FLOETHETIBL
Lererl Q& mertenene] MLIMEITUIED 60
§5615 5 8l6L HHLAME). Hlemrevulmest
Gl&F6VEYBHET €Ih. 90,000 6163116V, GG IT6ITETENTEY
M LIEDI6TT 6T6LI6LETEY QN (H&HEGLD?

(A) €I5. 3,00,000

(B) ¢Ih. 5,00,000

TRB

(C) ¢Ip. 3,75,000

(D) €. 2,10,000

44. \Which of the following statement is
incorrect regarding the concept of
responsibility accounting?

(A) It involves the identification of
responsibility centres within an organisation.
(B) It focuses on evaluating the performance
of individual managers.

(C) It emphasises the use of historical cost
data for performance evaluation.

(D) It aims to improve the control and
efficiency of operations.

44. QUITMILILS S60016E (D 6T60TM & (1h S )
QBTLJUTS LN6TTEU(HLD FoMMISH6M6L 618
SHUMITEITH)?

(A) @8I &2 HMIQITS SMH G CUTMILILY
EOLDULIMRIGED 61T ML UITETLD SHITCHUTLIEN &

2 6L SIS

(B) @8 FeviliLIL_L GLoeomeriy&erileot
Q&weLEMen6tT LOSHLIT(H Q& IUEH 6D &6)6TTLD
QFQISSIADSI.

(C) @&l GEwILSMet LOFIITL 19.MDE
QITeMMHMIF CIFEV6)S SJemeLl
LWIETU(R S SIUMS UOILDISHIFMS).
(D) @&l QlFwevLIT(B&eredt LG LLTE
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LHMILD CQFWILHMement GLODLI(HS FHi6UMS

Chr&aLmss C& Mo (heTeng).

45. Which type of elasticity plays a crucial
role in International Price-Discrimination?
(A) Price elasticity of demand

(B) Income elasticity of demand

(C) Cross elasticity of demand

(D) Advertising elasticity of demand
45. 576UCHF a)leN6V-LIMGUITL 1.6V 6TH G
EUENSUIT6T LEETSH6T6MLD (Lp SEILILI LIRIG

UG G|?

(A) GHemeuUT6tT 61601608 C&6vr6) LB6TTS 65T60ILD

(B) G&6061UTN6DT 62 (T LOM6DT LE6TH 63T60ILD
(C) C&HEMmeUUIN6IT GMI&HE LB6TSH 601600

(D) eXlenLb LIy LB61T& 63T60ILD

46. Excess capacity is noticed in which of the

following market structures?

(A) Perfect competitions

(B) Monopolistic competitions

(C) Oligopoly

(D) Monopoly

46. N6oT6U(HLD FHNH S6MLOLILIG 66D 6TS6L
SIHSLILIG WIT6ST SIM60T SHTevurLiLI(h SM &2
(A) BlemmeyLl GuimL_1q

(B) (LOMIflemioL GuIrL_ig

TRB

(C) &leu (I flemLD
(D) pHMIFlenLo

47. Arrange the following steps in a sequence

(referring to Business Cycle Phases):
[. Slump

Il. Recession

[ll. Boom

IV. Recovery

Choose the correct answer from the code
given below:

Code:

(A) 1, 11, IV,

(B) I, IV, 11, 11

C) 1, 1, v,

(D) I, 1L, 11, 1V

47. 68T LD Llg &6me6r (U] & & &Lpm & ulledt

Henev&e6in) euflen&LiLI(h S &is:

| LO[h & [hl6mev

1. LN 6oT6T60IL_6)]

Il JMHMLD

Iv. LIS &

&G Q&M &sLUILL BeTen GmuiLiq.60
A\®hg FFlwime LGlemevs
CaIIHOSHH&HSH6LD:

GIIRICE

(A1, 11, 1V, 111
(B) 1, IV, 11, 1l
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(C) 11, 11, 1V, |
(D)1, 111, 11, IV

48. Which is not an exception to the law of
demand?

(A) War

(B) Giffen Paradox

(C) Demonstration

(D) Inflation

48. GeHemeuuTuted NSUNEON(HHG N6V&HG
SILEVNTS G| 615?

(A) Guimy

(B) &..ClL6dT (LpIy6soTLIT(h

(C) QEWILANTHSLD / LSL (H alenerey

(D) LI6ooTe & SHLD

49. Window dressing is prohibited due to
(A) Conservation convention

(B) Convention of disclosure

(C) Convention of materiality

(D) Arrear of book accounts

49. FTENIJ SILMRIGITILD 6TH6TTTEV & 60
QEWIILUL (ReTeng)?

(A) LILDEMLD IS LOITL]

(B) QeueNui(h'Lb Loy

(C) (P SHENLIG GI6 LOTL

(D) B6V1& S LIS &Ihi6MedT [hlevleme

50. As per the indifference curve analysis, the

marginal rate of substitution between two

TRB

perfect substitutes will be

(A) Increasing

(B) Decreasing

(C) Constant

(D) Zero

50. FLOCHITEG eUMTCHIT(H
u@Lumiesoruig, @resor(h &flulmeot
LHSHS e 6@ QenLGuiimsn QmiSlihlenev
LGS (B & GLD 6T6iTEOT6UTS @\ &G LD?
(A) 158116 &I&CSTEIGL CLTEGLD

(B) @60MHGICSTEGL GCLIMEGLD

(C) Bl6éMEVILITETTH TS @) (IH &G LD

(D) L, QILDITE @\(Ih &G LD

51. Which of the following pricing strategies
involves setting a high initial price for a
product and then gradually lowering it over
time?

(A) Peak load pricing

(B) Price penetration

(C) Price skimming

(D) Cost-plus pricing

51. LT6tTex(HLD eXlemev Hifeuor 2§ &H&aTlev
(pricing strategies) 618 €2 (15 HWIMHILILISHE

S JLS SV 9158 aNemevsni HijeunuNs &,
LNetT601(] SHMeLLIGUITS &6V Lilg LILIG UITS
MG S GMMLILINS 2 66Tl SSHUIG|?

(A) 2_&& L1 exl606V HIF6UTuILD
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(B) elémev GlemernLiL] 53. 62 (b M 66T S S60T 2_&HG CLP6V & 60T

(C) eX6M6L &FM)I&E6D SlenLLien L STomesNS@GLD (LPS&Hu
(D) Q&F6V6) LOMMILD @ELTLIGGIL 60T Forlq UL SMIeTN&erleL LTl6oT6) (HessTeUMMICL 618
e16m6L HIT6EUTLILD @evemev?

A e6uT & HleoT HLLIL e&IGLD
52. Which is not the characteristic of Break- ® By S &6 bL Ll 5

even Point (BEP)? (8) BmIcueTS Sl6tT HLs0I&HMen Cl&ev6y
(A) No loss and no profit (C) HMI616vT & S60T LIS S &IT6T Gl 606
B) Total revenue is equal to total cost c oo .
®) a (D) BMI6168TS Sl60T ISl NG LD
(C) Contribution is equal to fixed cost
(D) Contribution is less than fixed cost 54. Which of the following is not a
. . . . . t of ki ital?

52. FLO60THl6MEV LieTerNuledT LIGHITL] SI6L60MSHE) component ofworking capita

(A) Inventory
618)?

(A) BL_L(LpLD @6Lem6v @eumu(LpLd §6L6mev

(B) Receivable accounts

(C) Plant and equipment

(B) GILOMG S 61 (HEUML QILOTH S CI&FVE|ES (D) Payable accounts

&LOLD . P
54. LTl65T62 (T 66vT6UMMIEL 6T HEML (LD MM

(C) ur&eMLIY Hlemeouwlmest QFeV6Y &G &FLOLD DG TS ENSHT (T SURIBLD SIE060?

(D) UMISeNLIL Hlemevwmest Gl&evemed eIl

(A) ET&E
GmDeN (B) QUM & & 58 &6U018G S6IT
53. Which of the following is not a key (C) Sh6M6L LOMMILD 2_LIGIT6U0TTRIS 61T
determinant of a company’s optimal capital (D) QFVIS G CE6TILG LI 56108 6T
structure?

(A) The company’s current ratio 55. If earning per share on equity shares is 1.5

(B) The company’s cost of debt and market value of shares is Rs. 15, then
cost of capital will be
(A) 10%

(B) 9%

(C) The company’s cost of equity

(D) The company’s tax rate

TRB P.T.O



(C) 1%
(D) None of these

55. LURIG SIS 655G 62 (1 LIMIGSSITesT
6)(HLOITEUTLD 1.5 4, &H6LD, LIMIG SH6M60T FlhemS
OSILIL €6. 15 &6 LD @\ (HHSHT6V,

LDV 56318 60T & 6V6) 6T6OTETTEUITS
A([mHSHGLD?

A) 10%

B) 9%

(
(
(C) 1%
(D) @eme s1g16LD @6L6m60

56. Operating leverage measures the
relationship between

(A) Sales revenue and cost of production
(B) Sales revenue and EBIT

(C) Sales revenue and EBT

(D) EBIT and cost of production

56. QU158 CBHLOLICSHTEL 6TUMMISHE
@enL_Guiwimest 2 mened SieTeN(HHMGI?
(A) ©NMLIEH BT 62 (T UL LOMMILD

2 MU Hulesr CFe06]

(B) M LIM 68T 62(TH 6T LOMMILD QL lg.
LOMMILD 6115 (LPIHEMGLLI 6(HLOMETILD
(C) eNMLIEM6T 62 ([H6UMIL LOHMILD 6Ufl&HE
(LPIHEMG U 62(Th LOITEITLD

(D) QUL g LDOMILD UIfl&HG (LPHEDS LI
QU(HLOMEEILD LOMMILD 2 MLIGSIUN6T ClFev6)]

TRB

57. Capital structure is ideal when

(A) Cost of capital is minimum

(B) Profitability of the business maximise
(C) Profitability and cost both are maximum
(D) Both (A) and (B) of the above

57. CLD6V & 63T SUeMLOLIL| 6TLIGLITE| HIDHS &I
6T60TM)I &(HSLIL(HHMG)I?

(A) CLPEVL & 6TTS 6T GIFEV6Y (&EMMEUTS
A®s5GLD CUTG)

(B) 66TUN &5 60T Q6VITLIS & 60T6MLD SIS HLOME
A®&HGL CUTH)

(C) @eumLISH G 6tTemLD LOMHMILD C1F6VE)
@en(hL SHSWTE @) (HSGLD CUTS)

(D) GLOM&6WIIL (A) LOMMILD (B) @ y6sur(hLd

58. Which of the following is not an
assumption of the central limit theorem?

(A) The sample size is sufficiently large (n=30)
(B) Population is normally distributed

(C) Samples are independent

(D) The population variance is known

58. DG HII euUILDL CHDHM S H6T 6| LOTEUTLD
SI6LEVITH G| L6oTEU (T 6U6ITEUM ML 6TH?

(A) LOTHF] Si6rT6) CUITGILDITE a6y Gl
(B) LD&G6T QG TEN G FTGHMJ6UIILOTE
aNHCWITEHSSLILGH DG

(C) LOM&F &61T & & HSJLOM6TT60I6L
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(D) LD& ST GG TS LOMMILIMT(H
SOWILGE DG

59. 'Density Method' is applied in computing
(A) Mode

(B) Median

(C) Mean

(D) None of these

59. 'SIL J§ S (LPDMD' 616055 SH6u0ISHSIL_L
LwleorL(BRSHSLILGS M EI?

OIEIC

(B) @6mL Hlemrev

(C) &gm&

(D) @eme 61g16LD §6L6mI60

60. In a moderately asymmetrical distribution
the standard deviationis equalto___ of
mean deviation.

(A) 4/5

(B) 5/4

(C)2/3

(D) 3/2

60. LG LOM6DT FL0&FETMHM eNBHICUITE S 6L
HemevIImest NeLSSHLD 6T60TLIG| FITE ]
aNeVSHSHSH ST &G FLOLD.

(A) 4/5

(B) 5/4

(C) 2/3
(D)3

61. Match List— | with List—1I.

TRB

List-1 List-1I

a. Universe | |. Average

b. Data Il. Population
c. Mean lll. Maximum
d. Mode IV. Information

Choose the correct answer from the code given
below:

(A)a-1ll,b=IV,c—1,d-1I
(B)a-Il,b-1ll,c-1V,d -1
(Cla-Il,b=1V,c-1,d-1l
(Dya=Il,b-ll,c-1,d=1V

61. LIL_Iq.UI6D — |2 L 60T LIL_lq.U16D — 1I-83L1

QUIT(HSHSHLD.

UL IgUI6L -1 | LIL_IqWI6V -1
a. QI6BOTL_LD | I. A&
b. Hj6Y II. L& &6 Q&M
c. §ym& . HEHSULFLD
d. (Wwa(® IV. §&616D
&CLp Q&M &sLUILL BeTen GmuiLiq.e0

BGHE ST LSS
CHHABGEBaLD:

A)a-Illl,b-IV,c-I,d-1l

Cla-Il,b-1IV,c—1,d-1ll
)

(A)
(B)a-Il,b=Ill,c—1V,d -1
(
(D)a-1l,b-1Il,c—1,d=IV

62. Given below are two statements. One is
labeled as Assertion (A) and other is labeled
as Reason (R).

Assertion (A): Descriptive statistics uses data
collection, presentation, analysis and
interpretation.

Reason (R): Inferential statistics uses
probability sampling, forecasting theories.

P.T.O



In the light of the above statements choose QIeM&HSLOMEGLD

the correct answer from the options given (B) (A) LDH')!DJL'D (R) @65or(B'LD &lﬂu-l”m@],

below. S, 6TTIT6V (R) 6T6OTLIG) (A)-S&HIT6T & [ILLITEDT

(A) Both (A) and (R) are correct and (R) is the .. )
NS &HLD 31606V
correct explanation of (A) )
(C) (A) FIWLIMTEOTS], O 60TMT6V (R) &FIlUIT60T

(B) Both (A) and (R) are correct, but (R) is not i 8l <5 i 8l

the correct explanation of (A) SI60EV

(C) (A) is correct, but (R) is not correct (D) (A) EIFILITETTH] SI6L6V, Y6016V (R)

(D) (A) is not correct, but (R) is correct SHlITesT&)

62 &‘,’(‘;Q Qs sappisaT 63. Select the wrong answers:

QSR &SI (BeTene. e6sn) a. Mode =3 mean -2 median
QUEOILIMIGHH6L (Assertion) (A) 6TETMILD b. Mode = 3 median -2 mean

LOMHQMITETM)] STETOILD (Reason) (R) 6TETMILD c. Mode =2 mean + 1 median

QUL LILL BeTens. d. Mode = 3 median + 2 mean
QUEOILMIS S6L (A): NeN&:8 LietTerNeNeumig el Choose the correct answer from the options

&6 C&EHLIL, QILPRIGSED, LGLILMLIE)] given below:
(A)Onlya, b, c

LHMILD eNeN&ELD g HwleumenmL

(B) Only b, ¢, d
LLI6OTLI(h & &1 S 6STm 6D (C)Only a, b, d
SITIEUOILD (R): 2155|6001 ([HLD (D)Onlya, c,d

LeteMaNeuhisen fisps e omSlg), 63. UDNET LUF6LHMTSH CHTHAS (B S&6LD:

(W eat&6mNLIL CaHTLLIM(h &emerL a. (W& = 3 FTMEH - 2 QenLHlen6v
b. W& = 3 QenLHlenev - 2 FFME
c. W& =2 &g + 1 QenLHlenev

d. (L& =3 QenL_Hlenev + 2 FOMEI

L6t (h & &l S 68T 60T. G LD 1) 8 630TL
SammIGeneLig, ECLp Qe&TESSLILIL (BeTen
aN(LUUMIS6TNN ([BHS FHlwimen L&Henevs

CHIBASESBaLD.
o o &CLp QamB&sLIUL (heiTern
(A) (A) LDOMILD (R) QT6Gur (LD &FlImen S|
. ) ) (B LUUMIS6MNeN ([HHS FHlWITe L&Hnevs
LOMMILD (R) 6T6ATLIG)] (A)-&SHIT6T FIFlUIT6T
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CHIBASE&BaLD:
(A)a, b, c DL (KD
(B) b, ¢, d LOL_(HLD
(C)a, b, d LDL_(HLD

(D) a, ¢, d LDL_(KLD

64. The sum of deviations taken from the
arithmetic mean of a series is

(A) Zero

(B) Positive

(C) Negative

(D) None of the above

64. 62(Ip QFML[fl6dT FaL_(h FTTEFFUNCO(BHS)
T(HSSULLL 016055 MIG 6T 60T

Fal_ (b 505 TN S:

(A) L& eAILD

() GHIJLOEMM

(C) 6TSTLD6MM

(D) GLDMSHEVUTL 6TGI6LLD @6LEmIV

65. Karl Pearson method was propounded in
(A) 1890
(B) 1980
(C) 1900

(D) None of these

65. SITT6L LNUITF 60T (L6 6THG 3H600Tlq.60
(L ESTENEUSSLILILL &)?

(A) 1890

(B) 1980

TRB

(C) 1900
(D) @6me 1gI6LD @6Lem60

66. The most suitable training method for
developing a person’s problem-solving ability
is

(A) Role playing

(B) Conference

(C) Laboratory training

(D) Case study

66. €215 6LIf163T §1H5H6M6V G ST&HGLD HMenr6T
UATILILISM @ LO1&6LD CILIT(h & & D6t
LUNMH& (pemm 6182

(A) LTS ATLD THM) blg & %60

() LOMBT(H

(C) SpUIeusLI LIUNMHE

(D) &H61T QY16

67. Measuring cost and value of human
resource for an organisation is related to
(A) Human Resource Accounting

(B) Social Accounting

(C) Financial Accounting

(D) Human Resource Audit

67. 62 (b BIMI6)6TSH SN &IT6T LD6WTS e6TS H6oT
Q&F6v6)| LOMMILD oSlLiemL SieTell(heus)

615 §8)IL_60T QG ML [JLIeMLLIG?

(A) LD6VTIS 6L6NTS H6EUTISHSIILIGD

(B) FCLP&G SH600HSILIEL
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(C) HH& &6w01&H S ILI6L

(D) LD6BTG 66T & 6T &H6M 5

68. Arrange the following steps (Theories of
Personality) in a sequence.

I. Psychoanalytic Theory

Il. Self-concept Theory

Ill. Trait Theory

IV. Socialisation Theory

Choose the correct answer from the code

given below:
(A) 1, 1, 1V, 1
(B) 1, IV, I, 11
) n, v, |
(D) 1, 111, 11, IV

68. LN60T6Y (LD LILg SH6MEIT (S, @1H 6005
GCamLUM(h &6 62(Ih euflenguileL
SMLDESHE)LD.

. 2_emiu@Lumieys Gamrum@

Il. &W-&HSHH S CaHrL_um(p

Il. GsoITlFws CamLum

IV. FELPSLOWILDMTES6D GaHTLUm(h

&G QamH&sLUIUL (Heitem GMIuiL g.60
QGHS! ST LHma0S
CHIHASBSsaL:

(A) 1, 11, IV, 111

(B) I, IV, llI, 1l

TRB

(©) 11, 111, 1V, 1
(D)1, 101, 11, IV

69. Match List— | (Theories) with List - Il (Proponents).

List-1 List-1I
a. Theory Z I. Herzberg
b. Equity theory . J. Stacy Adams

c. Two factor theory | lll. Vioom
d. Expectancy theory | IV. William G. Ouchi
Choose the correct answer from the code given

below:

(A)a=IV,b=Il,c=1,d-1ll
(B)a=I,b-1Il,c=IIl,d=1V
(C)a-Ill,b-1,c=lIl,d=1V
(D)a-1V,b-1,c—Il,d-Il

69. LIL_1q.Uu16V — | (G&HML_LIT(h'&61T) 2_L_ 60T

UL 1 U160 — 11 (G&HTL_LIML_6mL

(LPEOTCILDMLAH & 62T &61T)- QL1 CILIT(h, & & eLD.

LL_Ig Ul6L - | LIL_1g W6V - 11
a. GamLum@ z . QamijeroGuns
b. FLOUMIGS Il. Cg. evCL &
Gamum( gL LDerv
c. @nesui(h IIl. 61I€MHLD
SITI6uN &
Comum(
d. THFUMTLILS IV. ©1160601LILD g).
GCamum(® &8
SCLp QaT(H&sLUIUL (Heiterm GMIUiL .60
Q®HI sFlwime LFlme0s
CEIHABESHaLD:

(Aya-1IV,b=1Il,c=1,d-1ll
(B)a-1,b-Il,c=Ill,d=1IV
(C)a=Il,b=1,c=Il,d=1V
(D)a-1IV,b-1,c—I,d-1ll
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70. Which leadership style is characterised
by high concern for people and low concern
for production, according to Blake and
Mouton’s managerial grid?

(A) Authority compliance management

(B) Country club management

(C) Impoverished management

(D) Team management

70. NGend LoMHMILD QLD 6L L 6fl60T Hlieuns
SLLSH6OTLIY , 6THG &6M6V6MLDS &6 LIT6UDT
D& & @D &SSIT6 SIH& 31650 LOMHMILD

2 MUSHESTE GNDHS HEHHENM

S UMMM ClSTeuI(H 6T ?

(A) SIS SMTLD- @\ 680158 GLOEVITEHITEMLD

(B) &6OTL_If] &lenLl GLOELIT6TIT6MLD

(C) eMI6mLD GLOGVITETTTEMLD

(D) &(p GL6LIT6BITEMLD

71. Which conflict management style is
characterised by high assertiveness and low
cooperativeness?

(A) Competing

(B) Collaborating

(C) Avoiding

(D) Accommodating

71. 2 Wih euedmIS SHed LoHIILD GeODhS
25 FHIMLPLIL| 4 HUIeUMMITEL

UemSLILI(HSSHLILELD CLomg e GLOELITEUITEnLD

TRB

LIT6utT) 678

(A) GUTLIguN(h &6V
(B) 25 SIS &6V
(©) HeNEF60

(D) @ EORISILIGLITE 6L

72. Who developed the techniques of
transactional analysis?

(A) Elton Mayo

(B) Peter Drucker

(C) Eric Berne

(D) Adam Smith

72. UIfl6U118 & 60607 LIGLILIMILIEY [HIL LIMIGE06M
2 (IH6UTSEHIEUIT WIT?

(A) 6T6LL_60T GLOGWIT

(B) BLL T g N &[]

(C) 611518 Q60T

(D) Q4L_LD ervLhl G

73. Which of the following is not an internal
source of recruitment?

(A) Promotion and transfer

(B) Former employees

(C) Contractors and jobbers

(D) Extension of services
73. 6dT6)(IH6u6aT6uMMI6L
LIGTTLILDIT& & 6| S &6 2_61T Y, STJLD

SILEVLITH G| 6T8)?
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(A) UG 2_wije LMmMILD LUl LbTHMLD
(B) (LD 6OTEOTIT6NT 26TLAILLIT & 61T

(C) UG HSMIT&ET LoMMILD GCarlemev
SiaMULIeUTSerT

(D) GFemreuseMedt HL 1g 1L

74. National Rural Employment Guarantee
Act was enacted in

(A) 2004

(B) 2005

(C) 2001

(D) 2006

74. GE &L 26118 Gaemev 2 MIS) FL_L_LD

QuImmULIL L o) 6801(h 6182

(A) 2004

(B) 2005

(C) 2001

(D) 2006

75. Arrange the following steps (Maslow's
Hierarchy of Needs) in a sequence.

I. Needs of love and belongingness

[l. Esteem needs

[ll. Security needs

IV. Physiological needs

Choose the correct answer from the code
given below:
(A) 1, 11, IV,
(B) I, IV, 11, 11

TRB

(C) 11, 111, IV, |

(D) IV, 11, 1, |

75. LN68T6U(HLD Lilg &emer (LomeruGevmalsr
G5 emeuseed Lilghlémev) exiflenaLiLi(h sl 5.
. SI60TL] LDOMILD QEFMHGLD CHemel

II. Flwreng C&emeu

Il UTGISMLIL CHemel

IV. 2_L_ 601160 G&6m6L &6l

&CLp Q&M &sLUILL Beren GmuiLiq.e0
QG55 ST LHMEVS
CaIIHOSH(H&HSHeLD:

(A1, 11, IV, 111

(B)1, 1V, 1L, 1l

)11, 1, 1V, |

(D) IV, 11, 1, 1l

76. Arrange the following steps (in Decision
Making Process) in a sequence.

I. Identification of problems

II. Choice of alternatives

[ll. Evaluation of alternatives

IV. Search for alternatives

Choose the correct answer from the code

given below:
(A) 1, 1, 1V,
(B) 1, IV, I, 11
(C) 11, 11, 1V, 1
(D)1, 1, 11, 1V
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76. LN60T6U(HLD LG &6m6 ((LP1g. 6162 (h &G LD
Q&6 (LPEMMUINEDT Lilg S>61T)
QUflenFLIL(SHSHI5.

. §1&&HEL&HEMET SleMLLLITETLD &ITEun)|S 6V
I rHM) NS C&THESHS S0

lIl. IO euULNGem6T AL Q&% 60
Iv. M| QLN 6T CH(H'&6L

&G QamB&sLIUL (heiterm GMIuiL .60

B®Hgl Eflmer Umeod
CHHOS B &SLD:

(AL IV, 1

(B) I, IV, 111, II

(C) I, L, 1V, |

(D)1, 111, 11, IV

77. Match List - | (Functions of Management)

with List - Il (Key Activities).

List-1 List-1I

a. Planning I. Making relations in
authority and
responsibility

work with pre-
determined standards

b. Organising Il. Planning and decision
making
c. Directing Ill. To compare actual

d. Controlling IV. Direction to sub-
ordinates

Choose the correct answer from the code

given below:
(Aya=1l,b-lll,c-Il,d=-1V
(Bya-Il,b=1,c-1V,d-1ll

TRB

(C)a-1ll,b=1l,c=1,d=1IV
(D)a-IV,b-ll,c—1I,d -1

77. UL_Iq U6L — | (GLD6VIT6TOT60ILD

QEWeLUIT(H&6IT) 2_L_60T LIL_L.LLI6L — 11 ((Lp S&IW

[HL_6)11q.560)8:8611)-83 L1 CILIT(h & & 62 LD.

UL 1qW6Vv -1 UL IgWev -1l
a. SILL LOIL6D l. SIFSMILD LHMILD
(Planning) QuITmILIaeL
2_MEY&E06IT
2 _(IH6UMTHG G 6D
b. (PRISMLOGHHEL | II. SILLOIL 6D
(Organising) LOMMILD
(LAY Ty
c. ULAIBL & 5| &6L IIl. 2_6B0T63)LOLLIT6TT
(Directing) GeUEmELETILLI (LP 63T
ETomesNSaLILL L
&[JIRIG YL 63T
UGS
d. sLHUUGSSHISHEL | IV. Glemewur
(Controlling) S &M & 655G
QNS (h&6L
SCLp QaT(H&sLUIUL (Heiter GMIUiL .60
A\(®hG) FFlwiTe LGlemnevs
CIBOSBEeaLD:

(A)a-Lb=lll,c-1l,d=-1V
(B)a-Il,b=1,c-1V,d-ll
(Cla-Ill,b=Il,c-l,d=-1V
(D)a-=IV,b-Ill,c-1l,d-1I

78. Which one is not the work of RBI?
(A) Credit control

(B) Custodian of Foreign Currency
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(C) Lending money directly to farmers

(D) Banker’s Bank

78. LT6tT6) (Ih 6u6aT6UMM6L [f1F 61 6UMISIUT 65T
(RBI) LIGEUT SI6LEVITH G| 6T&)?

(A) SL_63T HL_(HLum(y

(B) SibHILI C1& 60 meU6utNUTI60T LIT&| STV

(C) NeUFTUNGE5 5@ CHlg LLITE LIGTITLD &L 60T
QULPIRIGH 6L

(D) 6UMRIH ST 6T UMIS

79. Central Co-operative Bank works at

(A) National level

(B) State level

(C) Regional level

(D) District level

79. DG S Fal_(hM6Y UM 6THG LOL_L & &leL
Q&weoLHEMSI?

(A) CHHW ieaileL

(B) LOMKl6L SiaTATIEL

(C) NPMHE U femerleL

(D) LDMEUL_L_ 6MaI6L

80. How many members are there in the
managing committee of RRB (Regional Rural

Bank)?

TRB

80. RRB-UIN6T (LNFMH UL 2615 6)MIS)
BeUT&S & (LPeN6L 616G emevt 2 M6 &6

o_6T6I60TIJ?

81. Arrange the following steps (Evolution of
Mutual Funds in India, based on

establishment) in a sequence.
[. UTI Mutual Fund

[l. UTI

[ll. SBI Mutual Fund

IV. Franklin Templeton Asset Management
India

(A) L 11,1V,

(B) 1, IV, 1L, 11

(C) I, 11, IV, |

(D) 1, 1, 11, IV

81. LT6dT6x([HLD Lilg SH6mer (@b SHILITaTIe0
ugeroury H&&emest LFflewmLOLD,
HmieUUUL L $60T Silq LILIenL_UTeD)

Ul FLILI(HS 51 5.

L W.lq.83. ugerouy Hg
Il W.1q.8.
. eterv.19.8. ugerouy HE
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Iv. . LgThRISefeot QL DIN6TL 63T GQIFL LGS S6M6L &L 6518 EMhLD (LD 63TLIGUINRIG E1LD

GG CIn6sTL. @b &t SILRIGLD.
A) L LIV, . . . .
AL, SITI6UOILD (R): 6L6T0T& 6UMIS S6IT &L 65T
(B) 1, IV, 11, 1l
(C) 1L 11, IV, | QULDMIGEUSHEDT CLHEV(LPLD &hIG6IT HlSlemiL
(D)1, 111, 11, IV 315G &&\6tTm60T.
82. Given below are two statements. One is (A) (A) LDOMILD (R) @T6sor(BLD FHILIT6T S|
labelled as Assertion (A) and other is labelled LOMMILD (R) 6TEHTLIG] (A)-&BHITETT EHUIment
as Reason (R). NETHHIOMNEGLD
Assertion (A): Loans and advances comprise (B) (A) LOMHMILD (R) @ J6Tor(HLD FHWITeTS),

the important areas of the investment of their SLETITED (R) amugﬂ (A)-&BT6T SR

money by Commercial Banks. . \
aNeN&SLD 3I6L6L
Reason (R): Commercial Banks increase their (C) (A) SHILITETTE), S 6UTTEV (R) FHULITEIS)

fund also by creating credit.

(A) Both (A) and (R) are correct and (R) is the

{606V

(D) (A) EHIWITETTG)] S16D6V, Y, 6TTTEL (R)
correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not eS|

the correct explanation of (A) 83. Given below are two statements. One is

(C) (A)is correct, but (R) is not correct labelled as Assertion (A) and other is labelled

(D) (A)is not correct, but (R) is correct as Reason (R). Assertion (A): The Central

82. GLD Qresu(h FaMHM)&6iT Office of Reserve Bank of India is in New

QETEHSSLILL (H6Tene. e6iTm) Dethi.

QUEOILIMIGHH6L (Assertion) (A) 6TETMILD Reason (R): Control of credit is the Central

LOMH@AMITEITM) SMTEUOILD (Reason) (R) 6TEHTMILD Banking function of Reserve Bank.

QLlu_IIﬂI_I'JIJI'_@G'TrGTrg. (A) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

6UGOILMIS GEDL (A): CUETHS CUMISI ST GMIGelT (B) Both (A) and (R) are correct, but (R) is not

LI63316 60 & (L &H65(H QEugLd (Lp SSWILDmeoT the correct explanation of (A)

TRB P.T.O



(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct
83. G Qresn(h FaMHM)S6iT
QaMTHSSLILIL (H6TTeren. 660Tm)
QUEOILIMI & &6 (Assertion) (A) 6TETMILD
LOMHEMTETM)| STJEUUILD (Reason) (R) 6TEOTMILD
QuWIfLUUL Bemerng). euedl|mISH &6V (A):
@S 1 FT6) eumISIUT 60T Lo G Sl
SIVIUELSELD LG CIL_6LE0ILT6L 2_6TTanG).
SITIEUUILD (R): HL_60T SL_(HLILIT(E 6T60TLIG)
&6l eUMISIUT 60T 6MLOLLI 6UMIE
QEweoUT(h &a6L 6TMMEGLD.

(A) (A) LDOMILD (R) QTesur(BLDd &Flimen &)
LOMMILD (R) 6T6ATLIG)] (A)-&SHIT6T FIFlUIT6T
NS &LOMGLD

(B) (A) LOMMILD (R) @ y6sor(hLD &IFIWLITETTS),
SL,6TTITEV (R) 6T6TLIG) (A)-&SIT6UT & [flLLIT60T
a6MSHSHLD {606V

(C) (A) EHILITETTG, 24,6076V (R) FFIUITEI S|
31606V

(D) (A) EILITETTS| SI6L6V, S, 636V (R)
gl g

84. Market penetration pricing is

(A) Selling same product at two different

prices

(B) Initial fair price

TRB

(C) Initial high price

(D) Initial low price

84. &lh60 & 261 (h'(IH 6260 1616V [HITETUTILILD
6T6OTLIG)]:

(A) Gy QuT B emen Qyssu(h CleueuGeum)
allemevgailev allmLg|

(B) &, JLDLIG S16V [HIUITUILDITEST 6X1168I60

(C) QY TDLISH6L 21HS aTlemev

(D) SHTLOLSSHEL GenDIbS eilenev

85. Five stages of consumer's buying
decision making process does not include
(A) Problem recognition

(B) Social factors

(C) Evaluation of alternatives

(D) Purchase decision

85. [ISHCEUMIl60T eUMRAIEGLD (LPIq.CleU(RSHELD
Q&L (Lpemmuear LG Hlemevsefled
LNesT6U(IH 6U6TTEUMMICL 618 CEITGHI?

(A) 515565160 SIMLLLITENLD &HITE0)|S 6D

(B) FELN G SITIT6UUT S 61T

(C) LbTHMI euULNGemeN S (R &%
(D) QBTET(LPSH6L (LPlg-6

86. In ‘IDIC’ CRM model ‘D’ stands for
(A) Directing

(B) Diverting

(C) Differentiating

P.T.O



(D) Defining

86. ‘IDIC’ CRM LOMAFlUI6V, ‘D’ 6T60TLIG| 67615 &
GMNSEG?

(A) QULIBL $BIFH6D

(B) S0 £ [ ILIS6D

(C) CeumIL(B & &S 60

(D) UEMFILIMIHFH 6L

87. The first component of the tri-component
model of attitude is

(A) Conative

(B) Affective

(C) Creative

(D) Cognitive

87. LDGOTLILIT6BT6MLOUI6DT (LD &8a M) LOTSNIFlUT 65T
(P H6L HMIGLD 6T&)?

(A) LDEBTIRl6MMEY

(B) 2_6001T & &)

(C) Qb &SLILLTOULDTEOT

(D) SIMleUMMmMeL

88. Which of the following is not an
agricultural input?

(A) Tractor

(B) Seed

(C) Pesticide

(D) None of the above

TRB

88. LN6aT6) (K 66aTEUM ML XU T 2_6iTer(h
SV G) 6T8)?

(A) lQII&LIT

(B) XM G

(C) 4 &H&0SMeLE0

(D) GLDMSEVUTL 6T&I6YLD @6LEBICL

89. As per the Service Quality Model (e.g.,
SERVQUAL), which of the following is not a
determinant of service quality?

(A) Tangibles

(B) Empathy

(C) Conformance quality

(D) Responsiveness

89. Cgemeus &y LOMSIFluTeorLilg

LNesTe ([HeUesTOUM MG 618 CEFEM6US SIS Sl6tT
E7omesllSGLD STT6uti 960602

(A) 2_MISLITETTEmE

(B) Ufley

(C) Q6MT&SHG HILD

(D) &I60MIS6EL

90. The factor not affecting product mix are
(A) Marketing

(B) Production

(C) Financial

(D) Shareholders

P.T.O



90. HWIMHILILE &H606M6UMIILI LITESSHTS
SITI6uNT) 6T8H)?

(A) EHen&LILI(H & &6V

B 2 HUSS

(©) Hi&

(D) LRI@GS M &6IT

91. Advertising objectives does not include
(A) Informing consumers

(B) Changing attitudes

(C) Developing awareness

(D) Making entertainment

91. eJleNMLDLITS S\60T CHITH RIS 61TI6L
LNesT62(IH 6u6TTEUMMICL 615 CEITGI?
() BISTCUT(h5GS Q5 fleNH 56
(B) LDGOTLILIT60T6MLO6MLLI LT 1) &6V
(C) NLAILILJETUTTE06) 2_(1h QTS S SH 6L
(D) Qurr@g,]@urré,@ Q&5 60

92. Which of the following is not the function
of channels of distribution?

(A) Managing production

(B) Managing finances

(C) Promotional activities

(D) Pricing

92. LN6dT6U(IH6U6TTEUMMIEL NHIGUWITS
QULNIGHFL_MiSaTe QFUeLLIT(H SI6LEVTS G

61817

TRB

(A) 2-MHUS SHenwwl HiT6USH & F 6L
(B) BFlemi [HliJ6LS & & 6L
(C) eXNeNLDLIT [HL_ 611G &60) & & 61T

(D) eX16m6L IHIT6UBTLLILD

93. Which of the following is not a Right of
Surety?

(A) Right of subrogation

(B) Right to revoke

(C) Right to claim set off

(D) Right to claim indemnity

93. L1l6aT62 (Ih 6u6TT6UMMIEL LN 6mevuTumaTILT 68T
2_[l60LD SI6LELTHG) 6T&I?

(A) 2_[l6DLD&6IT LOMTHMIFl6mLD

(B) @5 Q&UIUL|LD 2_flémLD

(C) F(HG&HM(HLD 2_flemLd

(D) QLU CaHM(BLD 2_FlemLd

94. Which of the followingis not a
qualification of a holder in due-course?
(A) He must be a holder

(B) He must be a holder without
consideration

(C) He must have become holder in good
faith

(D) None of these

94. 1N68T6) (K 66TTEUMMIEL 2_IfIWLI(LPemMUTEDL
60618 &) (IHLILINIF6T & &) SH6LVTH G 6151?
(A) SI6UIT 62 (Ih MEUGH S (HLILIUTTE Q)(Ih 55
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Geustor(BLb

(B) 6T LNTEILILET @6LEVITLOEL
606US S (HLILUTTE @) (1558 Gevevor(hLd

(C) 316U [H6L 16V EHUTEHUTS &)L 63T
606US & (HLILUTTS LM @) (158 Geuevor(hLd

(D) @6me 61516 LD @6L6mI6L

95. A secretary cannot reveal trade secrets
which he comes to know during his course of
employment. This is an example of

(A) Statutory liabilities

(B) Contractual liabilities

(C) Legal liabilities

(D) Liabilities under agency contract

95. 62(Ih, CIFWLIGUITENI], & 63T
GeusmeveumiiLigest GLITE) ie] SIMHS
ewimumy Q&S wmigenen GleuemuiL
(WIqUITS). Q&I 6THG 626N LLIT6sT
QUITMINUTEGLD?

(A) FLLIF Sliimest QUITMILILIS6TT

(B) 2LILIH& LI QILITMILIL|S6NT

(C) FL_L_ LI QUITMLIL|&6TT

(D) (LP &6 62LILITH & & S63T HLD 2_eiTern

QuUITMILIL &6

96. Deduction in respect of contribution to
Agnipath Schemeiisin
(A) Sec. 80 CCA

TRB

(B) Sec. 80 CCH
(C) Sec. 80 CCG
(D) Sec. 80 CClJ

96. 31560TILIG SIL_L ST LIkiSaLIL
QL yumen SLHl6 6ThSLI LNFleN6L 2_siterng)?
(A) LNy 80 1 &l6]

(B) Nifley 80 HEQaM&

(C) Nifley 80 HH A

(D) Nifley 80 HACY

97. Entertainment allowance for non-
government employees is

(A) Fully exempted

(B) Fully taxable

(C) Partially taxable

(D) Partially taxable in selected areas

97. Sl & FMIIT 26TLONLIT & (E1h & SIT6uT
QUTLPSHICLITS @ SI6VE6BTEN 6TEITLIG):

(A) (D (LPEOLOWITS a6 SIeMs&LILIGHMGI
(B) (W (pmLowms euifl 1S SLILHLD

(C) uGFHwierney suifl QN&H&SLILHLD

(D) CHTHES (H&HSLILILL LGS S6re0

LG &luwlerney suifl eN&& LU (H'LD

98. As per the provisions of the Income Tax

Act, the due date of the first installment of

advance taxis of the previous year.
(A) On or before 15th June
(B) On or before 30th June

P.T.O



(C) On or before 15th September

(D) On or before 30th September

98. 6 (IHLOIM6TT 6Uf& FL_L& H6oT

Q& &el6oTLIg., (LP6T8aL1q.Ut 6uIflUIN6IT (LD & 6L
&6Um6uTEnIL C1F6VIH S Cerewurq.ILl HemL &
Co), WHMBIL SycToriqer

(A) 830607 15-4 LD C&H &) Sl60TM)| Sl6LELS)
ASHS (LP6oT

(B) 879607 30- 941D C&H &) S160TM)| Si6LELS)
SSHS W6

(C) Q&LILLDLI 15- LD GC& &) SH6TM) 16DV G)
ASDHS (LP6oT

(D) Q&FLIL_LDLIF 30-94LD G&H &) S1I60TM)| 1606V )

SIHMS (LP 6T

99. A owes B Rs. 1,00,000. B agrees to accept
a new agreement from A where A will deliver
200 quintals of grain instead of the cash
payment, and the original contract for Rs.
1,00,000 is extinguished. This substitution of
the original contract with a new one involving
a change in the mode of performance is
known as:

(A) Rescission

(B) Remission

(C) Alteration

(D) Novation

TRB

99. A 6T60TLI6UIT B-&(& €I 1,00,000 QIF VIS
Geuetur(hLD. A LIGEUTLD Q& 6| & HIaUSM G LI
LI&6VITE 200 GEN6BUTLITEV & T63TILLIMISHEm 6l
QULDMRIGEUMIT 6T60TM LS 62LILIHS S0 B
D& 62LILIGCISTETH MM, GLOEYILD €Ih.
1,00,000-&&IT63T HF6L 6RLILIHGLD (LPLg6)&HE
QUBHMG. CFILIL M6 (LPemMUTIEL
LomHOLD GFOHUGSSILD LS eLILIbS S SiL 60T
3I&6V e2LILHG &6m& LOMMHMNIWLIMLDEGLD QHS
Q&weL (LM TeeUTM] SINUWILILIGE M SI?
(A QUG CFIGHED

(B) SONTEMHLIG.

(C) LOMMMLD

(D) UGILINS &6V

100. Which of the following functions is not a
statutory duty of a Company Secretary (CS)
as per the Companies Act, 20137

(A) To report to the Board about compliance
with the Act.

(B) To ensure that the company complies with
the secretarial standards.

(C) To assist the Board in the conduct of the
affairs of the company.

(D) To represent the company in all legal suits
and arbitrations

100. HIMIUETIRIGET FL_L LD, 2013697 Lilg.,

Nesteu(pLd Q& weLLIT(h&6TleL 615 62(Ih
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Bmieueod Q& wieomenfledr FL_L LIL| 6 &L 60LD
SI6L6V?

(A) ELL$HMDGS QehiGeg GHISS)
@@Qﬂg’)@ (Board) SIMN&6m& SeILILIG).

(B) HMI6ETTLD CIF LISV &:G FIJIhI& @M L 60T
@\6mIhIGeUmS 2 MIS QFUI6IS).

(C) BMI6L6TTS 51651 QTN 6USITT RIS D6

BL SIS0 GWeNDS 2-H6 6.
(D) QMG G| FL_L QULP&HGSHaTIe|LD LDHMILD

DG SHllervFhiGemevid HimialesTsens
NTSHHSSULILEGSSIEUSI-

101. A dealer agrees to sell a specific,
existing machine to a buyer. The contract
specifies that the machine must be
dismantled, cleaned, and packed by the
dealer before it is ready for dispatch. Before
the dealer can complete this work, the
machine is stolen. Who bears the loss?

(A) The buyer, as the machine was specific
and agreed upon.

(B) The loss is shared between the dealer and
the buyer.

(C) The dealer (seller), as something
remained to be done to put the goods into a
deliverable state.

(D) The dealer (seller), only if negligence is

proved.
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101. €25 NMHLIEHETUITETIT 6UIMRIGLIU(H S
@G GOIUILL, HHCUTGl6Ten
AWIHSHIHmS M& 6LILISCSTETH MITI.
QUIHLATHMS JUDILILG SWIMTTSLD (e,
aNMLEHESTUITOTT SIS LNl &S, 815 FHLD
Qagl, Cus Q&L Caussar(BLD 6TesTm)
UUBSLD GOIUNGEHDEI. ONMHLIEHCOTULITENT]
Qb CauemevsmiLt (Lplg LILIGME (LP6dT,
QUIBSTL AGLILGADE. GhS GLpliemL
wimiy 67 & Geuevor(h'Lb?

(A) QUMRIGLIEVTT, JGl6uT6uTl6L @WIHSHTLD
GO L g LommILD
ULSCISTeTaTLILL L G).

(B) @LOLIL| ©NDLIEMEUTLITEIT LOMHM)LD
QUMRIGUeUT QenL_ Gl USTHSI
QamememuULD.

(C) eiMLIEm6BTITENIT 67Gl6aT60T16L
QUIT(HL_ &6 6N 62LILIDL_ 5558019 UL
henev & Q&MesuT(H 6UIT Fl6L CEUMEVS6IT
Q&L Geuesurig UN(BHS G-

(D) XM LIEHSTILLITENIT {6V L FIUILD
HlepN&SLILL L meD WL (HGLD.

102. An agreement made between two
parties specifies that one party will not carry

on any lawful trade, profession, or business

anywhere in India for a period of ten years.
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This agreement is:

(A) Voidable at the option of the party whose
business s restricted.

(B) Void, as being in restraint of trade, subject
to statutory exceptions.

(C) Valid, if the restraint is reasonable in time
and space.

(D) Illegal, if the trade involves any forbidden
activity.

102. (1 HJLILN6OT(H5HE Qe Gl
JOUGSHSULLL @G FLLHSSSH, 2
SUN6TT @bSILITEI6D 6TRIGLD LIS S)
2h6001(H & Eh &S 6THGH UM, FL_L_LLJeULDT6wT
QTEHSHSLD, QSHTLHICL 3I6L6V G| QTN &GS
CLmQSTerTanT LOMLL_ITIJ 6T60TMm)]
GO LU (Rereng). Qh& epLILIbHSLD:

(A) TS L (KLU S SLILIL L
SyLULNeurifl6a1 X1 (5 LILIS 65T GCUIfl6L 68
QFLILISHH 55

(B) FL_L_L1L| Teu ©NFHeTI60 &S 5 61 &S

2 UL, eUf$H555HmG &L (HLUUBLSHIUSHTS
A ®LILSTEL, QF6eL6LITE)

(C) &L (L@ GuyLb LbOHmMILD @& Sleot
Sllgq.LILenL_unNev HwImuULTeTSHTe Q(HHST6,
Q&FeLEVILIGUITGLD

(D) UJSHGSHLD 6L GlFUIuILIIL L
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QEWILSHEMET 26T SSHUN(HHST6V,

FLLNGHTSHLOMEOTS)

103. A company has a paid-up share capital
of ¥ 40 lakhs and a turnover of X 3 crores in
the preceding financial year. It is not a holding
or subsidiary company, nor is it a Section 8
company. Under the Companies Act, 2013,
this company will be classified as a:

(A) Public Company

(B) One Person Company (OPC)

(C) Associate Company

(D) Small Company

103. €2 (15 (HimI66uT & Hl6tT ClF eV SH&LILIL_L
LIRI@& CLP6VG6IILD I 40 6OL_FLD LOMMILD
QBB HHWITEITIG D 216 ENDDILHSED
33CaMg 9,GL. @ Cammeviqhl SI6L6VG)
Glemeunt Bim|eeTLOTSEGEUT SieLevG) LTfl6) 8
HmieueTomSGeum @evemev. HLDCILI6UTI& 6T
&LL_LD, 2013601 &LD, Q\h& HM)I66DTLD
@eusaumm) euemsLUILRSSLILIHLD:

(A) QUITG| Himieu6wTLD

(B) (b BLIT BimieewTLd

(C) &1602613T [HI M) E26TTLD

(D) il HimieuewTLd

104. A seller sells goods to a buyer on credit,
and the goods are already in transit. Before

the transit ends, the buyer becomes
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insolvent. The seller has not yet been paid.
Which right can the seller exercise against
the carrier transporting the goods?

(A) Right of Lien

(B) Right of Stoppage in Transit

(C) Right of Resale

(D) Right to sue for the price immediately
104. 62 (15, NMLIEMEITLITENI] 6UITRIG LI6U(H &G
&L_60T Iq LILIEML_UN6L QILIT(HL_&6m6r
QMMM GCLOEYILD G (L &6lT M &H6arGel
CUTEG6UTSSl6L 2_erarnent. CLUTEHGUTSH S
(WPIg USMS (LP 60T, UMRIGLIGUT HleUTeLTH
QNEHOMY. aNMLIEHESTUITET(H &HES @)6oTsnILD
LIGWITLD C1&F 6Y|& S LILIL 1160606V CILIT(H L SHemer
gmM& QFeLILD CHIFILI(H &S 6THTTS
ML ETTUITONTI 6THS 2_[fl6mILD6MLILY
LIut60TLI (R & SH6VTLD?

(A) Nemeor]flemLo 2_fleoLo

(B) CUTEG6UTSFEL HMISHILD 2_Flenin

(C) LOMIMNMLIERETT 2_[f163I1LD

(D) 2_L_60Tlq WIS el6MEVSSHTS QULPES

QBT (HLD 2_flemLd

105. A person, aged 17 years and 11 months,
borrowed money from a lender on the basis
of a false declaration stating he was an adult.
Upon attaining majority, he refused to repay

the loan. Which of the following is correct

TRB

under the Indian Contract Act, 18727

(A) The contract is voidable and the lender
can recover the amount.

(B) The contract is void, but the minor can be
made liable under the doctrine of estoppel.
(C) The contractis illegal and void, but the
minor is liable under the principle of
restitution.

(D) The contract is void ab initio, and the
minor cannot be compelled to repay the loan,
nor is he liable under estoppel or restitution.
105. 17 QULLIG! LDMHMILD 11 LM MIGET HIFLDLIIL
(b BUT, HT6IT ep(b QI ST 6T6aTM)]
SIS MGG, HL 65T QULDRIGLEUFILLD
LIGOOTLD &L_60T 6UIMRIGI6TIITI.

QU LDLIT6OTEMLO ML SI6ML_[H G 6L 60T, 6T
SL6065TSH S(HLULT Q&FeI$HS LOMISHHIONL LTI
QA eLILHGHF FL_L_LD, 1872601 &L
LN6sT6U (1 EUEBTEUM MGV 618 FHIUIT6TSI?

() UUBSLD [S 8] CIFUILIS S &S] LOHMILD
&L_60T QULDMIGLI6UT GG TemSHemLL S (HLDLILI
QuMeLMLD.

(B) 2LILIHSLD CIFELEVITH), Y 60TTEL
'6TerOGLIMLILICL' G&HITLLIMLLq 63T SLD 60ILD6ITI]
QUITMILIUMT&SLILIL VLD,

(C) 2UILHSLD FL_L eNCHTHLOM6T | LOMHMILD
QEeLELTE), Sy, 60TTeL ‘LeafILiLy
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Q& meen U6t LD 6mLD6OTT QUITMLIL|eTTETEI.

(D) 2UILIHSLD &Y JLOLIG S0 ([HHCH Gl&FevevTE)

GLOQYILD 6MLDEBTENT HL_ 6016818 S)(IHLILNE

QFVIHG SLLMULILGSS (PIgUIT), GLOgYILD
Si6U(] 'sTrVGLITLILIEL S16L6VG) 'LerTeMLiLy

S, S uwieummMiet SL QUITMILILIELEV.

106. Mr. Zis a citizen of Canada. In the
previous year 2024-25, he was in India for
125 days. In the preceding 7 previous years,
he was in India for a total of 700 days. Mr. Z
earned X 5,000 as professional fees from a
clientin Canada for services rendered in
Canada, and this amount was directly
received in Canada. What is the taxability of
this foreign income for Mr. Zin India?

(A) Taxable for all residential statuses (R&OR,
RNOR, and NR), as he is a foreign citizen.

(B) Not taxable, as he did not stay in India for
182 days or more in the previous year.

(C) Taxable, as he meets the basic condition
of stay in India in the previous year.

(D) Taxable only if he qualifies as Resident

and Ordinarily Resident (R&OR).

106. $\(I. Z HEVILIT Glg W flemLd QUmbmery.
(WPHEDGHUI b 6581(H 2024-2560, 316U
QhHUWITONGD 125 BHITL_&6T Q([HHST]. ASHS
WHMSW 7 81 6501(H M6, Si6T
AbHWTENEL QLTS GLD 700 HITLS6NT
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QHST]. H(6. Z HETLTATI6L QULPRIGLILIL L
CFMEUSEHSHHITS HEUTL_ 616D 2_61T6rT 69 (Ih
QUMY SEn ST O ([BH G QSHTLHEL (LHemMm
&L_L_6BUTLDITS X 5,000 [FL_Lq 60TT[J, GLOGYILD
A& (HTens CHig WITS SH6uTL_M6X16L
QuUOUULL & @hslimeled &l(b. 2-6& Qhs
QeueMBITL (B 6(LOMeTS Hl6tT Ul N SILIL
6T60160T?

(A) Q6631 SH & G lq.UI (B LIL [Hle]EV & E1h &G LD
eulfl aN&&SLILIHLD, 6JCl6uT6v1160 61T 62 (IH
QeueNBTL (b (BLg.LOG60T.

(B) 6uIfl N HSHLILIL TS, 6JCl6a163116D Si62IT
(LPHENG LI 680719 60 182 [HITL_ 6T I6L6VG)
3SIHME& GLO6L AHHUITE6D FhISHEII6L6M6V.
(C) euifl MN&&SHLLGHLD, 6JGI6aT6aTI6L 6T
(PHEMS UL S4,6T01lq.60 QHSIITaNCD

&G 6USMSHTE Silq.LILIML [HILIHS 606160
47585 QELIBDT.

(D) 16Uy GlauNfleno QUM LMHMILD

MG TIEWILONG Glq UNflenLd CUMMENIT 6TeoTm)]
&G QuHMTEL L (HGL eurfl

N &&sULLD.

107. M/s. ABC & Co. incurred an expenditure
of X 1,50,000 for purchasing raw materials

and paid the entire amount in cash to the

supplierin a single day. The company claims
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this as a business deduction under PGBP.
What is the treatment of this expenditure
under Section 40A(3) of the Income Tax Act?
(A) Only X 10,000 will be disallowed, with the
rest being allowed as deduction.

(B) The entire X 1,50,000 will be allowed, as
raw material purchase is essential for
business.

(C) Only 50% of the expenditure will be
disallowed.

(D) The entire X 1,50,000 will be disallowed
under Section 40A(3).

107. M/s. ABC SI690TL_ G&IT. 62 (Ih, HIT6IT

WP (LPAUGILD % 1,50,000 QFELEMEL
CLPELLIGILIM(HL_S6IT UMRIG6US M HTHE
QFELAIILL GIL 63T, (P(LPS QB TEnSHEMUIULD
FLEDATLI(H &S QIMTESLONS CF IS SIS
BimieuesTLd Qéng PGBP-UI6IT LD 62(1h

QTN &S HLHIITSHS CEHIT([HHMG). 62 (IHLOT6DT
eufl& gL_L_5 it LNfl6Y 40A(3)60T SLp Qb % &
Q&6V 60T Hl6BICVL 6T60TEDI?

(A) % 10,000 LOL_(HGLD SISBILDHSSHLILIL TG,
LB& (LpéiTenemne SLARITS I SSSLILIELD.
(B) CLPELLIGILIT (61T G &T6IT(LD &6V
QUENESHMG IS SHITEUSUILDT6TTS)

ETEOTLIHITEV, (LH(LP X 1,50,000

SIS SSLILIELD.
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(C) QF6VE6L 50% LOL_(HGLD
SIS SSLILILTS).
(D) Lifl6y 40A(3)68T HLD (LP(LP  1,50,000

SIWILDHSSLILIL T

108. Mr. A is an employee of a Private Sector
Company in Delhi. His basic salary isX
50,000 p.m. and Dearness Allowance
(forming part of salary) isX 10,000 p.m. He is
provided with Rent Free Unfurnished
Accommodation owned by the employer.
Considering the population of Delhi is above
25 lakhs, what is the value of the Rent Free
Accommodation (RFA) perquisite for the
assessment year?

(A)X 72,000 (i.e., 12% of annual salary).

(B) ¥ 90,000 (i.e., 15% of annual basic salary).
(C)X 60,000 (i.e., 10% of annual basic salary).
(D)X 1,08,000 (i.e., 15% of annual salary
including DA).

108. S\(I. A GIL_6LEOIUN6L 2_61T61T 62 (1 H6BTLIMIT
BmI621601S Sl6oT 26TLHILIT. SHEUTEH| ilq LILIEDL
gLhLIENLD L& SHH MG < 50,000 LOHMILD
S1&)eM6VLILIYG (FLDLIETS H60T 62 (1h LG S))
LOITH S HMG < 10,000. AH6U(HEE

(P FHeLTeNmTed CI&THGLOIT6OT 6UITL_ 6018
@16L6EVITY HEATLITL RIGET @6L6VITS

SRIGLOIL LD QURISLILGEME). CIL6L60lUT6oT
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LD&G6IT QG TENS 25 VL_FHHMHGLD SIS HLOMS
ABLUUMSS &([HSS6L Q&M (), LHLSL (B
9}, 6V0TLq. M SHITETT EUITL_6ME 6LV
SMIGLOIL 5 S\60T (RFA) F6VI60 S LOS)LIL| 6T60T60T2
(A) X 72,000 (SIS TOUGI, 4,6001(H&F FLOLIETS Hl6L
12%).

(B) X 90,000 (SIFHTEUGI, 4,6001(H 3ilq.LILIemL
FLOLIGNH SV 15%).

(C) X 60,000 (S TEUSI, 36001(H Silq LILIEL
FLOUOMGH SV 10%).

(D)  1,08,000 (I&T6UF], DA 2 L LIL Y 6001(H&F

FLDLI6NSH Hl6L 15%).

109. Mr. P sold a non-residential plot of land
on January 1,2025, for a Long-Term Capital
Gain (LTCG) of ¥ 50,00,000. To claim an
exemption under Section 54F, he must invest
the net consideration in the purchase or
construction of a new residential house
within the specified time limits. If Mr. P is an
individual, the exemption under Section 54F
is available for investment in:

(A) Up to two residential houses in India,
provided the Capital Gain does not exceed X
2 crores.

(B) Any number of residential houses in India,
provided the entire net consideration is
invested.

(C) One residential house in India or outside

TRB

India.
(D) One residential house in India, regardless

of the amount of the Capital Gain.

109. $\(I5. P 2 (I GIqUIN(HLIL SI6L6VITSH
Hevseng westauifl 1,2025, SI6TM) X 50,00,000
UL &6V CLPEL G 6T @ELMTLSHMSHITS
eNmHmmy. Nifley 54F60T SLp ONeL&EG G,
36U GMILLIILL &T6V EUJLDLIS 18 E 61T 62(1h
UEW Gl u(mLy el emL eummhi@eugmGsim
31606V G| HL_(HeUHDCHT B
ufl&evementenii (Lp&60(H Q&I Ceuetar(h'Lb.
(5. P (1 &eaflBLIT 6T60TMITEV, LNIJl6Y] 54F63T
&LD e)l6v5& 61860 (PGS (h CFIILIS
SO &5 ME|?

(A) CLPEVG6TT Y HMUILD X 2 CHIMIg MG
STEIIL & 6UemFUN6L, QhSHIITaTeL @iyeior(H
G WL e(h &6 6U6m .

(B) BT Uil Fevement (Lo (LPeUGILD (PGS (H
QWL eusmyuiev, QnbHwimailev
615560631 G 1q.UTN (B LI QB SHerfley|Ld.

(C) @hSILITaNEL S16LEV G QHHWITEND G
QeuefGw e G g uNmLIY eI

(D) CLP6L G 6TT Y, HITILIS H60T QG MM SH6MUILI
QUTBL UGS STLO6L, QHSHWITETIEL 6 (h

Gl WL it
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110. Mr. X transferred his interest-yielding
bank deposit of ¥ 10 lakhs to his wife, Mrs. X,
without adequate consideration. Mrs. X
utilized the income from this deposit, X
80,000, to purchase shares, which
subsequently yielded a dividend income of X
15,000. Which of the following amounts will
be 'clubbed' in the income of Mr. X?

(A) The entire ¥ 95,000 (interest + dividend).
(B) Only the X 15,000 dividend income.

(C)X 80,000 interestincome, and X 15,000
dividend income is clubbed in the year the
shares were purchased.

(D) Only the ¥ 80,000 interest income.

110. (1. X GCUTGHILOT6DT LITfl F60 651601
@16L6VITLDEL ULl FFL_(HLD 6UMRIS
EDEULILISH G TEMSHITET I 10 VL F&HMG & 6015
Loem6uTe]) & (HLOS. X-5G LOMMMI6TITI].
SmLH. X Qb meLILISHCSHTensUN60 (HHS
HML 5 I 80,000 6)(IHLDITETH6M &
LiuleoTLI(h & &) LIRS S6mer eUMRIS6uTT], Q)&
L760763T1] X 15,000 [F6) SHGI& TS
QU(HLOITETTH6MS 6T& & &l. H (1. X-60T
6U(IHLOMEBT S Fl6L LNN6aT6U (HLD Q& TemSHH6Tl6L
618 'C&I&&LIL(RLD ?

(A) (LP(LP % 95,000 (QUL1g + FFeY&CSH TN ).

(B) X 15,000 FF6)|& GG T6!& 62(IHLOM6uTLD LOL- (HLD.

(C) % 80,000 6)L_lg 6)(THLDITEILD, LOMMILD T 15,000
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[T6Y 50 &T6MS 62(THLOITEITLD LIS & 61
QUMRIGILLI Sy, 680119 6L C&FJ&HSLILIRLD.
(D) % 80,000 6)L_Lg. 62I(IHLOMETLD LOL_ (HLD.

111. An interior decorator registered in Delhi
provides design services for a commercial
building located in Mumbai. The client is a
company registered in Chennai. What will be
the Place of Supply (PoS) for this service?

(A) Delhi (location of the supplier).

(B) Chennai (location of the recipient).

(C) Mumbai (location of the immovable
property).

(D) The Place of Supply is outside the taxable
territory as the service is related to property.
111. QIL6LE0ILTIEL LISl CIFUILILILIL L €2(T
9_61T SIVMIGILILITENTT (LPLDemLILTI6L
SIMLDHGIETTE 62 (I LTINS SL_1q L SHMDHMTS
(619 eU6MLOLIL| G&F6m6UBHEM 6T QULDHIGEMITI.
6L &M &ITENIT G & 60T60)60TUTIEVL
uSleCFWILILL L 6@(h Bimieuenid. Qb
GCEFMmEUSHSITE ULPMIGHEL @IL_LD 6T60T6UT6UTS
A SHGLD?

(A) GIL_6L V) (FLIsTLIT @ (HLILINLLD).

(B) Q& stement (QLUMIBH 65T @ (BLILTNLLD).

(C) (LPLDEDILI (M EFIITE Q& TE Sl6oT
@@LUILLD

(D) G&Femer CIF TS G| QML TUTEOTSH TS
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B LUSITED, QULPMISEL @L_LD 6]

aN&6568a1q U LIG S %G CleuailGul 2_ererng)

112. A trading company purchases a motor
vehicle with a seating capacity of four
persons (including the driver) for transporting
its senior management from office to client
sites. The GST paid on the purchase of this
vehicle is ¥ 5,00,000. Can the company claim
Input Tax Credit (ITC) for this amount?

(A) Yes, ITC is fully available as the vehicle is
used for business purposes.

(B) Yes, ITC is available only to the extent of
the tax on the vehicle's engine components.
(C) ITC is available only if the company's
annual turnover is below the specified
threshold.

(D) No, ITC is blocked under Section 17(5) as
the seating capacity does not exceed 13
persons, and it is not used for specific
exempted purposes (like further supply or

transport of passengers for hire).

112. (5 TS S HIMIEUETLD S LSS
AIEITESMS AIQIOSSH G
6UITIG &6MSULTENTI] & 6N 615 &G ClSmesur(h
Q&6L6V, BHITEITEG HLITSHET SILDJSHFelq U
(6L (BB 2L LIL) 6(1 GLOML_L_IT[]
QUMSHETISH6MS UTRIGH DS QHS
QUM&ETISH6MS UTRIGILSDSHTE CF VIS S
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GST < 5,00,000. Qh C1& TN & &S [HMIEUETILD
o_6TeffL_ () 6uiflé &L_60T GHIMIT (LPlg. LL|LOT?

(A) QYLD, 616TINS CHITSH SRS EHSHSHMSL
LWwIeTU(RSSLILREUSTEV ITC (LD (LPEMLOWITE S
&N SH@GLD.

(B) LD, QUMTE60TS 51607 6T(6h E160T For. M)l S6xTl60T
euflufetr oMM L (HGLD ITC HEDL_SHGLD.
(C) Himieuen g Sletr op6001(B ENDHMI(LPSH 6L
GO L eugbN @GS G6mmeuns

@ (H&MeL DL (HGLD ITC HleML &G LD.

(D) @6L6m6V, A\(IH5H6M HIMET 13 HLITEEDI6IT
SMEUIL_THSHTEYILD, GOILILL aTle0&HE
SIeM&SULLL CHTSHSMIGEH&HSHTS
(LDMIQILPTRISHEL I6LEV G| QUL M&ESHE
Liwlestnsement eJHM& G1&eLeUg| CLITETMsme)
LITU(R S SLILL THSTeILD, LNifley 17(5)60T SLD
ITC (H&sLLGSMS)

113. A service provider completes a service
on October 10,2024. The invoice is issued on
November 15,2024. The payment is received
on December 5,2024. What is the Time of
Supply (ToS) for this service?

(A) October 10,2024 (Date of completion of
service).

(B) November 15,2024 (Date of invoice).
(C) December 5,2024 (Date of payment).

P.T.O



(D) The earliest of the date of invoice or date
of payment.

113. 2(1h GFemel QULPRIGHT SIHCL MUY
10,2024 Sl60TM)| 62 (1 CFEMEUMILI (LPIqSEHMITI.
QTl6MEVLILIL I UIED [HEULDLI 15,2024 60T
QIRISLILGHMEI. LIGWILD 1q FLDLIJ 5,2024
SleTm) QUDLUIUGE DS QHS C&FemerdH et
QULPMRIGHEL GHITLD 6T60T60T?

(A) SISGLITUIT 10,2024 (GCF6m6U (DIgHG CHS)).
(B) [H6ULDLIT 15,2024 (QTl6meVLILIL Iqu160 C&&)).
(C) lg.&LDLIIJ 5,2024 (LIGWILD CIFeVIH H! CH&)).
(D) eNemevLILIL 116D C& &) Si6L6VG)

SL_L 601D Q&S Sl C&HHUTN6 618
WHOSWCHT G

114. A supplier sells goods for a basic price of
% 10,000. The contract stipulates that a
penalty of ¥ 500 will be charged if the
recipient makes a delayed payment. If the
recipient delays payment and pays the full X
10,500 (price + penalty), the taxable value of
the supply for GST purposes will be:

(A)X 10,000, as the penalty is an independent
transaction.

(B)X 10,000, as the penalty is not included in
the transaction value.

(C)X 10,000 plus the GST applicable onthe X
500 penalty.

TRB

(D)X 10,500, as the penalty/interest for

delayed paymentis includible in the value of

supply.
114. 62 (Ih FLIGMETILIJ I 10,000 3ilq LILIETIL

M6V &G GILIT(HL_SH6mr 61T NMEIMITI].
QUMIBY STLOGLDTES LIGTITLD C1&F 6VI& Sl6uTTeL X
500 SIUPTHLD NSSHSLILI(HLD 6T60TM) 6LILIMHSLD
GOUNGEHME!. QUMIBT STLOSHLOTS LIGTILD
QENIGHH), (LD T 10,500 (QTN6M6V + SILITTGLD)
Q&I HHETIMT6L, GST CHITHSMISEHSHHTS
QNHCWITESS Sl6tT 6l NEESHEFalq Ul LOSLIL
6T60T60TEUMS @) (IH&H(GLD?

(A) % 10,000, 6JGl6BTEBTIEL SILITTHLD 62 (Th
GUIT&6TTLOM6DT LIIf 601 & & 602601

(B) 10,000, 6JGl63T60T16L SILITTGHLD
Lifleuj& & eme LOSILITN6L

GC&I5&LILL QI6LEM6V.

(C) % 10,000 LOMMLD X 500 SHILPTTSHSH S MG
QUIT(HHS &Falq LI GST.

(D) % 10,500, 6JG6BT6TI6L &ITLD & LOMT6TT

&L_L 60015 SIMSIT6TT SILITTELD/6ML g

NHCWITs W&HLILN6L CFF&HSLILL Couetor(hLD.

115. Which of the following services, when
provided by an educational institution to its
students, faculty, and staff, is not exempt
from GST?

(A) Supply of food and beverages in the
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mess/canteen to the students.

(B) Conduct of entrance examination against
a fee.

(C) Transportation of students and staff.

(D) Renting of a hall or auditorium for a
private commercial event to an external party.
115. NesTeU(HLD CFemeusaTleL 615, 62 (1 Heval
HMIQIETTSH HTEL 18 60T LOTETIIEUT ST,

S, AFILITS6T LDMHM)ILD 2ETLHILIT S (E1h &S
QULPRISLILEGLDGUTE], GST-uNO(HhH S

16V 5@ SIeMSELILI(H6USILEMEV?

(A) LDIT6UITEUIT 8 (615 5(G 260016
all(h§l/2_cmuaus g dleL 2_6uu16) LOMMILD
LITEOTRI& 6061 6ULDIRIE & 6V.

(B) &L_L_630TLD 611856015 8| HI6NLP6)S CHTenel
BL-SSIHEV.

(C) LDIT6TUTEUT &6 LOMMILD 26TLAILITSH6m 61T
gOMF CF6LEYIFHEV.

(D) €2 (1 SV QTN S HHLDESHBMTS 62 (1
LDGBUTL_LILD 1606V G| plq L CLMHlWISHemG
QeueMNuLm SFLILT6NT(H 5@ UL M&H5E

QB &e6v.

116. Which of the following scenarios is most
likely to lead to a conflict between the Net
Present Value (NPV) and the Internal Rate of
Return (IRR) methods when ranking mutually

exclusive projects?
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(A) The projects have the same initial
investment cost and their cash flows are
received over the same period.

(B) The projects have significantly different
scales (initial investment) or their cash flow
patterns differ substantially over time.

(C) The company's cost of capital is exactly
equal to the IRR of the project being
evaluated.

(D) Both projects are expected to generate
positive and identical cash inflows in every
year of their lives.

116. LUgeroU] NFHSHGCUIS SIL_L_RIGemern
uflen gL SHHID CUTH) H&T HHCUTEM S
LS LOMILD 2 6Tl §lg aN&HGLD

(W MSEHS5G QenL Gl (Lpresorum(h ML
eumILILjerTen & LDHlemev 618)1?

() L MISEh&S 6T SpIbU P FESL(BE
Q&F606) 2_6ang) LOMMILD ieUMM6oT
LI6WTLIL|LD & & RIG6TT 62G HTELSHL_L & v
QuUMULI(H&6sTm60T.

(B) HIL_L_MIGEIT &6wNFLOMS GoumiLL L
SNATEYHEM6T (Y JLDL (P GESE)

Q& IT6u01(h STTEIT6uT SI6LEV ) UM M6TT
LIWTLIL|LD & & 621q RIS ET STeLLIGLITS &l6L

S6uUT&LOMS GeumiLI(h &HleoTment.
(C) HMI6LETT S S160T CLHEVL & 63T ClF V6]
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LHIIH QFUWILUGLD SILL &S 6T IRRES
FHWINGE FLOLDITS 2_6T6IE).

(D) @6vu1(B SIL_LMi&EhLD Sieummest
QUMLPHITaTl6a ep6)GIeUM(F ) 68uT(HLD
GCriyenmulmest LOMMILD Gy O mEflulmest
LIGUOT 62761 &60161T 2_(Th 6T (GLD 6T60TM)]

1STUMTSSLILGLE DS

117. According to the Modigliani-Miller (MM)
hypothesis on dividend irrelevance, the value
of afirm is solely determined by its
investment policy and not by its dividend
policy. Which crucial assumption underlies
this conclusion?

(A) Investors are always rational and prefer
current income (dividends) over future capital
gains.

(B) There are no taxes, no transaction costs,
and all investors have free, equal access to
information.

(C) The firm has a constant dividend payout
ratio and a growth rate equal to its cost of
equity.

(D) The internal rate of return (r) is strictly

greater than the cost of equity (Ke).

117. F6YH0G M0 & QLT (T & HLOI65TEnLD GHMSH S
GLomig &edlulimenil-LOlL6LIT & (b HIGHTeaMedTLI,
PG HmieusT Sl LFILIL| g6t
WGBS QameTemnsumed L (HGLo
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SresNSSLILIGHME], G 60T

F6 &0 HTENSHS CISHTETENSHUITED 3{6V6V.
QbH&HS FaMMISHE Sliq LML LTS Q(hH&HSLD
(LD SSILILDITEST SIEW)ILDITEUTLD 6T&)?

(A) (PGS LTOMT&6NT 6TLGLITGILD

LGS S M sTerneuf&en LoMHmILD 6THT&mev
CLN6VL & 6T QY HMILIRIGED6T QT HHCLITEN S LWL
6U(HLDITEUTSH 6N (16 H0 & T &)

(K LOUSI DTS 6.

(B) 6fl &6l @6L6mev, Lifl6wT& & 6m6st
Q&606)&61T Q6LEM6V, LOMMILD EMETTSH )
(GO L TS EhSGLD &56260

86V LONSHE)LD FLDLDTHELD SIETD)I& S

S &S MEI.

(C) HmI6UETTLD 62(Ih HléMmELUIT6NT FF6)HCIHTem &
QEFVIHGHILD ONGGLD LOMHMILD 1% 6T LIS
Q&6V6Y5G FLOLDITE QUATTEFH Q15 G & 615
Q& mesur(H6eTerng).

(D) 2_61a1&H & & HLD LIRIGEF QFeveneu el

STl LILITS SHSHLOTS 2_61T6N ).

118. A company is highly capital-intensive,
relying on automated machinery, but uses
very little debt finance. How would this
typically affect its Degree of Operating
Leverage (DOL) and Degree of Financial
Leverage (DFL)?

(A) DOL will be low, and DFL will be high.
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(B) Both DOL and DFL will be low.
(C) DOL will be high, and DFL will be low.
(D) Both DOL and DFL will be high.

118.€2(1h, HIMIGUEILD SIH& CLHELGETISH MG
B HTesNms @uihSHTmisenern
&IOS LIWETLGSSHIHMEI, S 60160
DS GEMMHS &L 6M6vILl
LWETUGRSBIEDEL. QB! SIS0
QWIS e CBMIPEHDWID B
QBOIPMHMU|D CUTSHIQUTS sTeUQITM)
LTS @GLD?

(A) QFWELHMET QBHMILPENM GHEMMEUTS
QB&GWL, HMID HF CABMIPEND
SIFHLMES A\ ([HSGLD.

(8) GEWELSHMeT ABDI(PNDUID HF)
QpOLpOUILD QUL GemmeuTs
DMHEGLD.

(C) Q&weLHMesT QBMI(LLEMM SIFSHLDTS
QB&GWL, HMID HF CABHIPEOD
GMMEUTES @ (HSGLD.

(D) QEweLAMe CABMPHOULD HIS
QpHWenDWD QrETELD HFSLOMS
DMHEGSLD.

119. The Net Operating Income (NOI)

approach to capital structure theory asserts

that as the proportion of debt in the capital
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structure increases, the total value of the firm
remains constant. This is primarily due to:

(A) The Cost of Equity (Ke) declining exactly to
offset the rising cost of debt (Kd).

(B) The existence of corporate taxes which
stabilize the cost of equity.

(C) The increase in the cheaper debt being
exactly offset by a corresponding increase in
the Cost of Equity (Ke) due to higher financial
risk.

(D) The assumption that the overall cost of
capital (Ko) must equal the internal rate of

return (r).

119. CLPEVL & 60T SH6MLOLIL CHTLLIML g D SIT6TT
H&) @IS 61(HLOTET (NOI) 600G (LD,
PV G 60T SH6MLDLILNGL &L 63fl60T NG LD
S18)51§16GLDCUTEI, HMI66TS S60T QDTS &
LOEHILIL LOTMTLOEL @\(h &GS LD 6T6oTM)
QUOUMISSIHMEI. QBSOS (PSS
SITJ600TLD:

(A) BL65T QFeV6Y SIS SHLILNG FF(h &L L
LRIGE Q&F6e06) FHLNSS GnmEME.

(B) UMIG& GlFeuened HlsmevHimisHHid
STUILGHL eurfl&eflest @ (HLIL.

(C) LDEVIGUITETT SL_607163T HHSIFILIL, AHEHS HI)
SIUMWLG S\60T STITEUIILOITS LIMIGEF ClFe061160

Q&MTLJYemL W SIHSFLILTEL FHIITS
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FEOFLWLILGEDS).

(D) @RL_(HCILDMTHG CLPEVLG6UTE GF6V6)
2 ene&H G NHHHH MG (r) FLOLOTS @\ (H5HS

Geu6tuT(HLD 6T60TM) SIEBILOITEBILD.

120. Why is the cost of retained earnings
generally considered to be less than the cost
of a new issue of equity shares?

(A) Because retained earnings do not involve
any flotation costs or personal income tax
implications for the firm.

(B) Because using retained earnings avoids
paying dividend tax, which reduces the
effective cost.

(C) Because using retained earnings avoids
flotation costs (issue expenses) and personal
income taxes that investors might pay on
dividends (opportunity cost).

(D) Because retained earnings are considered
internal funds, making their risk lower than

external funds.

120. [FL_1g Wi @60 ITLIS Sl60T G1&F6V6Y, LS LITIG
QeuerluiL g 651 QF6LeMeY I QLITGI6UTS
GEMDAUTEHS &(IhSLILI(H6LS)] 6J60T7

(A) FFL1g W @6vmLI& &6V OIGLILIEF C1F606) S6lT
31606V G| HiMIQIEETSH S SHIT6oT H6vflILIL L

QU (HLDITETT 6UIfl HTEHSMISEN 6TFHI6LD E6L6TI6V

6TEOTLIGITEV.
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(B) FL_Ig.ul @eumLigemG LI LILISTLI(H & Sl6US)
F6YSHCH TN eUflenILIF C1F6vI & &I6M S &
SJES MG, QG| 2 GuenLOILITE CIF6Vemers
GEMMSHMG) 6T6OTLISHTEV.

(C) FL_Ig W @evmLISHema LI LIL6TLI(h & SlevS)
OGLILE QF606 &6 (Qeuafuil (B QFev6ysei)
LOMMILD (LP &6OL L TeTT 6T
FeY&CIHTenUTI6L C1F 8IS & &Ealq Ll
&60TILILL_ L 6)(IHLDIT6T 6L &61T (eUMUILILIE
Q&Feva|) Y &iememms SaJSHMGI
6TEOTLIGITEV.

(D) FFL_Iq.Uut @60ITLILD 2_61T B 6T6015
S(HSLILHOUSITEL, S5 60T LIS G| Claef

Hlenu L GenmeUTS 261161 G 6TETLIGITE.

121. A firm follows a Just-In-Time (JIT)
inventory system. Which of the following is
the most critical requirement for the
successful implementation and functioning
of this system?

(A) Holding a large safety stock to manage
unexpected demand spikes.

(B) Focusing primarily on minimizing the
ordering costs associated with inventory.
(C) Developing strong, reliable relationships
with suppliers to ensure timely, high-quality,
and frequent small lot deliveries.

(D) Maximizing the Economic Order Quantity
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(EOQ) to achieve maximum purchase

discounts.

121. 6 (1 HimIeu6utLd ‘Fflwimest CHIS e’
&6 SlemLisnUll NerUmMIADGI. QbhS
SIEMLOLIENL QleUMMISTLOMS
QFLOLGSHIUSHGLD, QLRIGUSHEGL
LT6tT62 (I 616BTEUMMIEL LHG (LY SHSHILDIT6DT
CoHeme 6182

(A) e1HTUTTTS CHem6U HHSFLILGm 6
&LomeM& s 62 (15 QU LT&ISTLIL @\(HLi6nL
smEUS S (HLILIG).

(B) (LP SHEVTEMLOWITS FJ&E Q&ML [JLIT60T
ST 1] Q&F6V6YSH6MEN G6MMLILISIEL &6268TLD
QFDISSHIHEL.

(C) &flwimest GBS H6L, 2 UITSHIFLOMEIT,
LOMHMILD Sl &Slq AL SieTalevmest
aNhiCwnshsemer 2 MISLILGEHS
FLIMENTLLIT & (61 L 63T 62I6VI62T6TT, [HLOLIGLDT6T
2_MEY&HEDEIT CUETITLILIG).

(D) HEHGLIL & CISITET(LP 6L F6TT(ErhLILG 6MUIL
QUMD QUITHEMTHITY S TL_IT SHerT6med
SHSHLILG).

122. Which of the following describes the key

benefit of 'Factoring without Recourse' for a
selling firm?

(A) The factor only acts as a collection agent,
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with the credit risk remaining with the selling
firm.

(B) The factor provides a long-term loan
against the collateral of accounts
receivables.

(C) The selling firm receives payment only
upon the final collection of the debt by the
factor.

(D) The selling firm completely transfers the

credit risk (risk of bad debts) to the factor.
122. DU HMeUTSHHMS 'QULDSHE (D
@6LeLITS SITTETIIS H60T LD &L 60T QTNMNLIEHI6TT
(Factoring without Recourse)' (LD $&ILLI [H63T6DILD
6151?

(A) &6 62 (I CE&IFILIL (L &6UNTS L (HGLD
QEweLLIHEMGI, HL 68T HUMULILD eXNMDLIET6T
BT SSIL_LD 2_6iT6rG).

(B) &MIJ6wT), QUM & & & 561018 (& & 6111601
Nenesorid S @ eTHTS HevorL &irev

&L 60631 QULDRIGEHMS).

(C) BL_6meut HTI6wN QMIHUITS 611860155
MNestea1GIy eNmLIem 6t HIMI6L6TTLD LI6VITLD
QUM MS).

(D) eNM LM 68T BIMI6LUETTLD HL_ 68T SILITUIH MG,
(CLOTEFLDITETT SHL_60TSHaTI60T QILITILILD)

SMI6TN&HE (LD (LEOLOWITS LOMHMISMSI.
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123. Which characteristic fundamentally
distinguishes a Joint Stock Company from a

Sole Proprietorship in the eyes of the law?

(A) Unlimited liability of the owner/members.

(B) Direct motivation from the profit motive.
(C) Ease of formation and dissolution.

(D) Existence of a separate legal entity apart
from its members.

123. FL_L_§ &6t LMT6meUuIlev 62(1h oL (BL
LRI BmieuendHend (Joint Stock Company) €2 (1
SesflemL_emouNed (BHS! Silq LILIEHL UTeL
CoumiL(h'& G H60T LIGHUTL] 6182

(A) 2_flemLowlmerniy/e_miUiLTestj&erleot
eULbUMM CUmmLiL.

(B) @60l G685 Sle0 b H&I CHlg

2 581860

(C) SIEMLOLILIGHGLD HEM6VLILIGMNHEGLD
sTerfemLD.

(D) S 60T 2_MILINesT&HTL LD (B H &)
SeLLL L ep(h FLLLLL e Himieiess SHeor
QY

124. In the context of management levels,
which is the primary function of Top
Management?

(A) Directly supervising the efforts of the

operative workforce.

(B) Interpreting policies framed by the Board
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of Directors into executable programs.

(C) Ensuring quality control and minimizing
wastage in the production process.

(D) Laying down the long-term objectives and
framing the overall organizational policies.
124. GOV MEHUTEMLD [Hlemev&eaMest & Lpedlev,

2 Wi GLOELITETITETLOUTNET (LP & 60T6MILD
Q&weoLm(® 6T&|?

(A) QEweLumL (b1 uesonwlmenj&erleot
WM& &enen GHylg LTS
Gumurjeneuui(Beugi.

(B) QUISGS B @'Q.gsnrrei) 6219 6U6MLDSHSLILIL_L
Q&TETEn&H&HM6N CFIWILLI(H S HSFalq UL
SLL RGeS aNené G eUsg).

(C) 2MUGFF QFUIELLITL Ig 6D HIJS
SL(PUUTL 0L 2 mi& Q&FuIeUGILD,

Q6T &M S S GMMLILIGILD.

(D) BETIIL &IT6L 6V GG HEMENT SMLDG G,

L (GCrdd Hmiaiers C&merend&emner

2 (HEUTHG6LUG).

125. A business adopts a Code of Conduct
that prohibits employees from accepting gifts
worth more than X 1,000 from suppliers. This
measure primarily falls under the ambit of:
(A) Corporate Governance.

(B) Social Responsibility.
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(C) Organizational Structure.

(D) Business Ethics.

125. 62(Ih EUGTINSLD 62(Ih L &6 & X HlemiLl
(Code of Conduct) JDHMISCSTETH MG, Q)
glenemuj&HefL OB H&I X 1,000-5@& GLO6L
LOSLIL6TTEN LITf1 8: 863161 26T LAILLIT S 6T
JOMIGCETETUMES SOl CFILIEME. QHS
HL_621q.8560)8 (LP & 60T6MLOLLITS 6T5 63T
QUM G 6T (B HMEI?

(A) STIULGCTL 94, (6156MLD

(B) &FeLp& GILITMILIL

(C) BimI6x6wT Sl6MLOLIL

(D) 66we11& QBN (LD M & 61T

126. Which element of the Organising
function establishes the maximum number of
subordinates an executive can effectively
supervise, thereby influencing the height of
the organizational structure?

(A) Decentralization of Authority.

(B) Departmentalization.

(C) Delegation of Authority.

(D) Span of Control (or Span of Management).
126. HiMIQU6ETEF CIFUIGLLITL L 63T 6TH& 2 MILIL],
€2 (5 HIFeUTE HMLDLIL &6V IT6U0N & 88 Foulq LI
Sleneuur 2a1LAILIT&HET6T S SHLILF
6T600T600TI H 60 &ML M1 HM &), 18 60T CLHEVLD

Hmiues SienLoLiLTeor 2 uIjHend
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LUTHSHMGI?

(A) HEHSMLI LITEUEOTSHSLD

(B) HI6MMLOILILDITE &6V

(C) SISSIMIJ eRLILIEMLLIL|

(D) SL (LU (b 6UJLDL| - SI6LEVG)

GLDELITETTTEMLD 6UIJLDLY).

127. A key difference between a Traditional
Partnership and a Limited Liability
Partnership (LLP) is that in an LLP:

(A) All partners have unlimited liability for the
debts of the business.

(B) The existence is tied to the life of the
partners, leading to dissolution upon death or
retirement.

(C) It can be formed by a verbal agreement
without requiring mandatory registration.

(D) A partner is shielded from personal
liability arising from the misconduct or

negligence of another partner.

127. UMJLOUFIW Sl L_T650T6MLO& G LD
QUEMTWIMISSLILIL L QUITmILILS
Fo.L_L_IT600T6mLOSHGLD @emL_Gul 2 61161 62 (I
WSS Ceumum(p 6T6T60TCI66TTMITCL, LLP-
ufev:

(A) 606V S &) FoLL_L_ITENI]&(E1h & (SLD
66T &5 60T &L 6015 (61 &G eUJLOLIMM
QUITMILIL] 2_6lTerg).
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(B) FoL_ LT &6TI60T 6UTLD & 60 & UL 65T @) (HLIL
Nen e SLILL (ReTeng), LDJEuuLd SI6L60G)
@U165GL MG &m6LLILSE
QILNQIGSEHMEI.

(C) LML LFle| GC&emeUUTN6LEVITLDED
QUMLICILDTLYI €2LILIH & & S160T CLHEVLLD @&

9 _(IH6UM&ES (LPlg U|LD.

(D) 62(Ih, FaL_L_ITeNMIy LOMGMIT(H FoL_L_mernuedr
SEUMITE [L_FH6ME 606V VL FIILIG GT6L
6T(LPLD HevhluL L QurmLNed b H S
UT&IST&HSLLG S M.

128. A manufacturer of shirts acquires a large
chain of retail clothing stores. This
combination represents a strategy to control
the distribution channel and is categorized as
a:

(A) Lateral Combination.

(B) Horizontal Combination.

(C) Circular Combination.

(D) Vertical Combination (Backward or

Forward Integration).

128. LML S6M6NG &WIMFSHGLD €2(h

2 MUSHWITET, FILEVENM Y, 6ML
&60)L_566iT €2 (I, Gl FHI&leOlen L
UMRIGSH M. QHS Heveneu NHICIITE
QILNISSHL HmGS S HLURSHILD €(1h
eLpGeomUMLIG M &
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NyHHESSIUILESSISMS! LOOMILD
@euaurmi aumSLILEGSSLILUGSDSI:
(A) L&SUML ( H6V60I6U

(B) Hl6ML_LOL_L_ &H6060)6)

(C) QUL_L_& &606m6)

(D) OFMRIGSH G Hevener LNeTCeTTSH Sl

SI6L6LG) (LP6TTCEIITEH S €2 (Th RIS 6METITLILY).

129. The Hawthorne experiments, which
highlighted the importance of social factors
and informal groups in increasing worker
productivity, are the cornerstone of which
school of management thought?

(A) The Classical School (e.g., Scientific
Management).

(B) The Modern School (e.g., Systems and
Contingency Approach).

(C) The Decision-Theory School.

(D) The Neo-Classical School (Human

Relations Approach).

129. QG MLHleLTENT 2 MLIG S S HMemevt
SIHSHLILEHEL &eLPS SITT6UT &6 LOMHM)ILD
PEMDETTT & (LPSHSHeM6T (LPSHUIG Hl6US S
1B HHSHHML I U @DTEUCSHTIT60T
CEMGHEM6SH6 6THG GLOEVITEHUTEMLO S

&b S 601 60TILI6TT CLPCLEHGH6VEVITS 2_6TT6IT60T?

(A) BlenT&&&60 LisTTaN (61.851T., SiMaTuIeL
GLD6LIT6TITEOILD).
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(B) B&x6or LieiTeM (67.8IT., SI6MLOLILIG 6T LOMHM)ILD
SHMCIFILIC SIS (LHEMM).

(C) (WP13.Q6UB &G LD-CHTLLIT(H UeiTer.

(D) UHUWI-SenT&&:&6L Lieterl (L0637 & 2 M6 Sl
SIS (P60 D).

130. Commerce is broadly divided into two
main activities: Trade and Auxiliaries to Trade.
Which of the following activities constitutes
the Auxiliaries to Trade (Aids to Trade)?

(A) Manufacturing of products and extraction
of raw materials.

(B) Buying and selling of goods (exchange).
(C) Banking and Insurance.

(D) Cattle breeding and mining.

130. UTHHHLD LITHG SlemeileL @yesor(h
(LSS HL6)IG HNSSHENTSHL

Nf&&LUUL (HeITerng): &S &LD LMHMILD

QT 555G H60T &)601650 [HL_ 621G &60) & SH6lT
LNesT6U(HLD HL_6LIG &6 & S6ITI6L 615

U] 55 55 S 60T &)6016001 [HL_6)1Lq &60)5 860161

2 (HUTHGHMEI?

(A) SWIMFILIL&HeneT 2 MHLH S C&I1%H60 LMHMILD
eLeuLIQUIT(HLSemen NG 6 & (h & &6V.

(B) QUIT(IHL_&6m6NT 6UITIRIE & 6L LDMHM)ILD
eIMM6L (LFILOMMMLD).

(C) UM LoMMILD ST

(D) SMELHEDL QUATILIL| LOMMLD SJRIGLD.
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131. Which core component of the Directing
function refers to the psychological force that
stimulates a person to strive for the
achievement of a specific goal?

(A) Leadership

(B) Supervision

(C) Communication

(D) Motivation

131. UL (H &6V QFUICLLITL Lq.60T 6TH S

(L SHEW RIS, (I GO L Q605608
SlML_QUSMSTS €(Ih HLIEMTS G6vur(hLD
2_aMailieL F&HHens GDSHME?

(A) HEMELENLD G GHIELULD

(8) GLOMUIMIT6mI6Y

(C) QML

(D) 2a15&LILI(H & &1 H6L

132. In a Hindu Undivided Family (HUF)
business, the head of the family who
manages the business and whose liability is
unlimited is known as the:

(A) Designated Partner

(B) Coparcener

(C) Karta

(D) Trustee

132. (5 QH& N &SSULL TS & (HLdU
66N &G 516V 616N 5560 G [HT6LS &(GLD
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LOMHMILD eUFLDUMM QUTMILI6mLIS Gl TevorL
GGG SEmevall sTelITm)

SOt &M

(A) HWINSSLILL L Fol_L_TerTIy

(B) LIRIGITENTIT

(C) BTSHSIT

(D) SIMMIGSTEUEVIT 133.

132 .Coordination is often considered the
‘essence of management' because:

(A) Itis the cheapest function to implement
across all departments.

(B) Itis the final function performed by top
management.

(C) Itis the force that unifies the actions of
different individuals and departments
towards a common goal.

(D) It ensures the business is registered under

the correct legal structure.

133. €2 (IHRIK6MEUITLIL| CILI(HLDLITEY|LD
'GLDEVITETUTEMLOUTN6TT FTILD' 6T6OTM)

& SLILIH6UG) €J601?

(A) SleM6TTH G| HleMMEHETILD CF LIRSS
@&l edleumen GlFweoLIm(h.

(B) @& 2 Wi GLOELTEEIT6MLOUIITEL
Qauwwtu@L @i QFweour(®.

(C) @& QeusiGauml §evsllbLITSH6IT LDMHMILD
SIMMSE60T [HL_ 611G &H601&:SH6me 62 (I

TRB

QuTglaTer QeV&ens CHT&HE

62 (RIS ENENSHGLD FSHHITGLD.

(D) 6U6TN&LD FIflulmenT FL_L SHL_L_emLOLILT6dT
&1 udley QEFLLILILL (BTG 6T60TLIM & @G
2 MIFH CQFUISMEI.

134. When a business adopts a policy of
ensuring fair returns to its shareholders,
prompt payment to suppliers, and
reasonable wages to its employees, it is
primarily fulfilling its social responsibility
towards which stakeholder group(s)?

(A) Society at large (environmental).

(B) Only the shareholders.

(C) Customers and Government.

(D) Internal stakeholders (owners,
employees) and market stakeholders
(suppliers).

134. 62(Ih EUETINSHLD 31§ 60T LIRSS TTIT5E5 5
HIUITWLILDITET QB LOMETTSH6mS 2_MIS) CIFUIFH6L,
FLIEDNTILITS O &G 6XT6MIJ6UIT6TT LIGTITLD
QFVIH G| &6L LDMHMILD 31T 60T 2ETLHILIIT S (61 &S
BIImUILDT6oT 2aT&UILD QULPMRIGSH6L CLIM6TM
Q&memen&enil GLOMCISTETERHCLITSI, i)
(L SH6TEMLOUITS 6T[HG LIMIEG SHTITIT
G(LSHEHHS IGH6 FeLSHL QUITMILIEnL
HeonCahmI&mS)?

(A) QUITHIOUTS &CLPSLD (FHM & FLO6V).
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(B) LRGBS 66 5@ LOL-(HLD.

(C) UITlQ &ENSHILITETT&HET LDMHMILD S &r.

(D) 2_61T LIRIG ST SH6IT (2_[fl6nLOWITATT 61T,
261 AIILIT&E) LDOMILD FHeWG LITRIGS ST &6

(FLIEDENTLLITE6TT).

135. After an insured person's car is
destroyed in an accident and the insurance
company pays the full claim, the right to
pursue recovery from the third party
responsible for the accident is automatically
transferred to the insurer. Which fundamental
principle of general insurance is illustrated
here?

(A) Principle of Utmost Good Faith
(Uberrimae Fidei)

(B) Principle of Indemnity

(C) Principle of Proximate Cause

(D) Principle of Subrogation

135. STUSH QEFULIWILIUL L 62 (T, 6IS68T SITI
aNusHev PHS LM, HTLIEE (B
Bmiauesd (LD 2 MlemLGHMTEmeVLLD
Q&I SlILieLL 60T, O)ILIS G156 SHITEUILDITEOT
CLEOTMITLD FLILN6oTHIL OIS
AL L QML (HLD 2 flénLo
SeoTT&HGeU SIS L men(h&G
LIOHMUUGEMS). QLTS STLISL 1q 65T 6TH S

Sllg LILemL Q& menens QmICs

TRB

eNen&SLILIL (BerTeng)?

(A) SI6MESHS (LPIg WLITG [H6LGI6V6TITEEUTS
(AF:Y1(3((1)F:

(B) QLU (& Q&meTens

(C) SI(HBHMENLDE SHITI601S C&TEITE0 S

(D) 2_flémLd LOMMHM) QS IT6TEn S

136. The primary statutory function of the
Insurance Regulatory and Development
Authority of India (IRDAI) is to:

(A) Monitor the operations of stock exchanges
and mutual funds in India.

(B) Set the premium rates for all life and
general insurance products offered in India.
(C) Act as a non-statutory body advising the
government on insurance matters.

(D) Protect the interests of policyholders and

regulate the insurance industry.

136. QHHW STULEL ( €(PRIG (LM
LOMHMILD GLOLDUTL (B 24,60 6U0TLLIS Sl6oT

U GesTemio FLL LI Feu Q&uleoum(h 6T6oT6ur?
(A) @hHWTEN6L LGS &Heor& &6l LoMHMILD
uyerouy Hi&semest Q& wieoLm(h&enern
SEUUIHITEUOTNLILIG).

(B) @hSHWITaTleL aUPRISLILIHLD e065TSH )
S U6 DHMILD QUG STt (b
SWIMHLILS @5 SSTeot LN LOIWILD
ANEGMISEET SI6MLDLILIS).
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(C) BTG Q&ML M6 aTleQWImiSeTled
STEFMRISSEHMGS 2 CELTF M6 QULPMMRIGLD
(I FLL L FOUDMM SIeMLOLILITS
Q&weoLI(heug).

(D) LITeO A1 G M7 & 61TI60T [H6V 631860 6XTL
LITGISMTULG| LOMHMILD STLISE (HS SHlemmeni
PUYHGUESSIUE!.

137. The process by which a privately held
company makes its shares available to the
general public for the first time, thereby
facilitating the collection of long-term capital,
is known as a(n):

(A) Rights Issue.

(B) Bonus Issue.

(C) Offer for Sale (OFS).
(D) Initial Public Offering (IPO).

137. €215 HEvTlLIMT Himi6ewTLD

(L &6 (LD EMMILITE CILITGHILD &S E1h &S 1 60T
LIRI& SH606TT Sl &8F C1F LIS 6T CLPEVLD,
H6U0TL &6V CLPEL G 601G MG F CEFSILILIENS
616MGTHGLD CFUIGL (LPemM @ierieumm)
SIMWLILGHDG):

(A) 2_flemLo Qeuemui(y

(B) Gumenterv Gleuemui(y

(C) NMLIEHETIHSHITEU & 6VI60)

(D) Q% ILDLI CILITS| QULDHIGHED

TRB

138. Which of the following is NOT one of the
primary roles or functions of the Securities
and Exchange Board of India (SEBI)?

(A) Regulating the business in stock
exchanges and other securities markets.

(B) Prohibiting fraudulent and unfair trade
practices relating to the securities market.
(C) Promoting investor education and training
intermediaries.

(D) Regulating the money supply and
managing the interest rates in the economy.
138. LN6oT62 (h 6U60T6UMMIEL QHSILILI

LS HIHIGET LDHMILD LIfl6I[& & 606wt

EUMIILIG S63T (LD S60T60LOLI LITE SIS 6T
Sl6Lev G| CIFWILUIT(H&6TeL 62601
SILEVLITH G 6T8)?

(A) URIGE &Heng &6 LoMHMILD LNM LIS ST
Flhe0 & S616L 2_61T6IT 66T & & 60 &G
FWHRGUGSSIH0.

(B) USHST& &HenG Q&ML jLmesr CLOMELq.
LoHOILL PLMLLOHD Q1S5S
HEDL (LD MM SH6MEN G601 G &I IS 6D.

(C) (PGHESL_LITery &L LoMHMILD

QL 5H5T8[SE5G LUNMHE SienliLeng
2618, 6)1 & &H6V.

(D) Liswot NHIGCUITS S0 S €2(LPMRIGSLUEG S SIS0
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LOMHMILD QLTS TISHSH 6L Q1L Lo
Q& & MIGE6N [HTeUESHFH6V.

139. The system where the work of one
employee is automatically checked and
verified by the work of another employee,
structured so that no single person handles a
financial transaction from beginning to end,

is called:

AmidHeueny Gy HUIT OSIWITETTS
6UEMBUTIEL SL_L 6mLOSSLILEHLD H6mLOLIL|
@eueurm| SIMLPSSLILGHMG):

(A) 2_61T & 600N &H60 5

(B) 2_61T SL_(hLuum(y

(C) &medTm) &HUMFLIL

(D) 2_61T G&F TG 60601

140. In auditing, the process of checking the
ownership, existence, and possession of an
asset on the balance sheet date is termed
Verification. The distinct process of
determining the fair, true, and commercially
accepted monetary worth of that asset is
termed:

(A) Vouching.

(B) Certification.

TRB

(A) Internal Audit.

(B) Internal Control.

(C) Vouching.

(D) Internal Check.

139. 62(1 2a1L LIl 65T GeusmeL MU LDHQAMIT(H
sanL Al 1fl68T GoUemELILITEL HT6aTmSHGe
FHUMISSLIUL (B, (5 HFILI
LIfl6x] & & 6m6utemniL Q&L &85 $H 60l (Hh )
(C) Assessment.

(D) Valuation.

140. & 60N &0 SHUT6L (B LILBIEMEVS SHIT6lT
CoHEHUN6L 621K Q&G G601 2_[flemLo, @ (HLIL|
LOMMILD 2_6mL60LD QY SLIQIMEDDEF
FHUM&GLD Q&L (LM FFILIMTE 6L
6T60TM)| SUMPESLILGHMGI. Sh&H&F C1F TS Sleor
HIUITLILDITEDT, 2_630T6MLOUIIT6UT LOMHM)LD
QUETNSIF SILITS JDHMISCISTETOTLILIL L LiGsor
LOSILI6LIG S680TLMIL|LD 60715 GI6LLDT60T
Q&weL(Lpemm Qedieumm)
SIMPESLILGHDG):

(A) &I FIFILIMFTLILY

(B) FMeOTMISHLD

(C) LEHLNIE

(D) LSHIINEHH6EL
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EDUCATION PSYCHOLOGY
SeLadl 2 _araillleL

Q.141) The Mid-Day Meal Scheme has been
renamed as which of the following?

(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Q.142) The main goal of the NIPUN Bharat Mission
is to ensure foundational literacy and nhumeracy for
children by the end of which grade?

(A) Grade 1 (B) Grade 2

(C)Grade 3 (D) Grade 5

Q.143) “Jaadui Pitara” is mainly targeted for:
(A) Secondary school students

(B) Parents only

(C) Teacher educators

(D) Foundation stage learners

—_ ~— ~— ~—

Q.144) “Integral education” covering five aspects of
human development is a concept advocated by:
(A) Sri Aurobindo

(B) Jiddu Krishnamurti

(C) Vivekananda

(D) Tagore

Q.145) Who is considered the Father of Sociology?
(A) Max Weber

(B) Auguste Comte

(C) Karl Marx

(D) Emile Durkheim

~ -l ~— ~

Q.146) Rousseau’s educational philosophy best
supports which concept?

(A) Societal control

(B) Naturalistic development

(C) Industrialization of education

(D) Rote memorization

—_ ~— ~— ~—

Q.147) When was Anna University, a premier
institution for engineering and technology,
established?
(A) 1929

(C) 1982

(B) 1957
(D) 1978
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0.141) W 2 ewTeys FL L LD @)eieiTm)
wpIQuwAL_Liul B ererg?

(4) PM g,ammg Guimggestm

(B) PM Sy estesLyiesstm S 1_Lb

(C) PM GLIToWGT 60315 [5]7LO TG8T

(D) PM oa11" 14555 @) a5

0.142) NIPUN umgg S L g@er (ps&Hw GprssLd,
GBS SHET 61hS ou@LiLewr (LpLg@fled
YL L& SOIwWmey LOPMILD 6TETCRTHEH L]
Cumieuens 2 1B OFUIaISTGLD?

(4) eu@Liy I (B) au@LiL 2

(C) au@LiLy 3 (D) @@L 5

0.143) “gongrull 985 mam"- 68T (LLSHF W Q)5 G?
(4) QueSTL_TLD [BleM6V LD TESSTo [T 5% T

(B) QupCmrgser oL BLd

(C) AR wi sevaflwmerd

(D) 919 L1LIGHL_ [Bl6H6V LD TGEST6U 7% GiT

0.144) wesfls uaTiFAUST @ESH Y LOFBISH AT
2 ATATL EHW  “@hEIHWenThS Hvall”  eTeID
FBSMS eS| DISFiau:

(A4) uf gl Csm

®) -6 Dvapemrapiss

(C) NGousmerps i

(D) 11

0.145) FeLp %@ GO)GST B e G 6TGTM F(5SLILI(B LIG T
wmg?

(4) Godav GlauLig

(B) QpsevL” SabL”

(C) STH6V LDTIS e

(D) 611860 L_J&0)suiLh

0.146) enGFrailar s0ails $ESIQULD 6THS F(HSMS
FpLLITS Y FHSFDH?

(4) FeLps HL_HLILIT®

(B) @Qupensd auariss)

(C) sevailufler G)gmLleOLD W LD 75560

(D) LoGTLILIML_LD

0.147) Qumpluflwied LopmILD
OFTPOBIL LISHDEHTGT (LPSGIGOLD B0 6 GTLD TGS
<2 GUSTGHSTIT LIS VSBELPSLD e1LIGLITG)
Boieuiu L g?
(4) 1929 (B) 1957
(C) 1982 (D) 1978
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Q.148) Who is hailed as the "Father of the Tamil
film industry" and is known for producing and
directing the first silent film in South India?

(A) K. Balachander

(B) Dada Saheb Phalke

(C) R. Nataraja Mudaliar

(D) S. S. Vasan

Q.149) Which Chola king is famous for his naval
expeditions that extended the empire to
Southeast Asia?

(A) Rajaraja Chola |

(B) Rajendra Chola l

(C) Kulothunga Chola |

(D) Adityal |

Q.150) Human brains having enactive, iconic and
symbolic modes of representation. This concept
formation was given by

(A) Bruner

(B) Pavlov

(C) Piaget

(D) Thorndike

Q.151) Pre-operational stage is one of the
important  stages of Piaget's cognitive
development between

(A) Oto 2years

(B) 11 years and above

(C)7to 11 years

(D) 2to 7 years

Q.152) Physical developmentis .
A) Quantitative in nature

Qualitative in nature

Reflective in nature

Continuous in nature

~—~

(

(B
(C
(D

~— ~—

Q.153) In Pavlov's classical conditioning, the
unconditioned stimulus (UCS) is a stimulus that:
(A) Elicits aresponse only after repeated pairing
(B) Elicits a response without prior learning

(C) Becomes neutral after conditioning

(D) Is the same as the conditioned

TRB
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Q.154) Thorndike's 'Law of Effect' states that
behaviors followed by satisfying consequences
are likely to be:

(A) Weakened

(B) Forgotten

(C) Repeated

(D) Generalized

Q.155) The Gestalt theory of learning emphasizes
that the learner perceives things as a:

(A) Collection of individual parts

(B) Whole or a unified pattern

(C) Random set of stimuli

(D) Response to a single stimulus

Q.156) The need to succeed, to excel, and to
achieve a high standard is known as:

(A) Self-Actualization

(B) Power Motivation

(C) Affiliation Motivation

(D) Achievement Motivation

Q.157) According to Guilford's 'Structure of
Intellect’ model, intelligence can be classified
along which three dimensions?

(A) Single, Two-factor, Multi-factor

(B) Operations, Contents, Products

(C) Componential, Experiential, Contextual

(D) Linguistic, Logical-Mathematical, Spatial

Q.158) Who proposed the 'Group-Factor Theory'
of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal
comprehension and spatial visualization?

(A) Louis Thurstone

(B) Charles Spearman

(C) Raymond Cattell

(D) J.P. Guilford

Q.159) Continuous and  Comprehensive
Evaluation (CCE) was legally supported under:
(A) NEP 2020

(B) RTE Act 2009 Section 29(2)

(C) Kothari Commission 1966

(D) NCERT 2000
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Q.160) Which of the following is the correct order of
the hierarchy in evaluation?

(A) Test » Measurement > Assessment > Evaluation
(B) Measurement » Test > Assessment > Evaluation
(C) Test » Assessment » Measurement - Evaluation
(D) Assessment > Evaluation > Measurement > Test

Q.161) A Mathematics Readiness Test to predict
performance in Algebra is an example of:

(A) Achievement Test

(B) Aptitude Test

(C) Diagnostic Test

(D) Prognostic Test

Q.162) Who is known as the father of the Great Man
Theory of leadership?

(A) Fiedler

(B) Thomas Carlyle

(C) Kurt Lewin

(D) Max Weber

Q.163) A student reflects on their learning strategy
and revises it for better performance. What type of
knowledge is this?

(A) Factual

(B) Procedural

(C) Metacognitive

(D) Conceptual

Q.164) The term Curriculum is derived from a Latin
word “currere” which means:

(A) To teach

(B) Torun/racecourse

(C)To learn

(D) To read

Q.165) Which principle of curriculum development
encourages addressing various learning styles and
preferences?

(A) Balance

(B) Individual Differences

(C) Utility

(D) Relevance

Q.166) Project-based, real-life learning in curriculum
best reflects which approach?

(A) Logical

(B) Spiral

(C) Unitary

(D) Topical
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Q.167) Which institution leads the national Virtual
Labs project in higher education?

(A) IT Bombay

(B) llISc Bangalore

(C) IT Delhi

(D) NIT Trichy

Q.168. Which toolis India’s first Al-powered teacher
robot?

(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Q.169) TPACK was proposed by:
(A) Mishra & Koehler

(B) Skinner & Crowder

(C) Morrison & Hunt

(D) Gagné & Krathwohl

Q.170) Which platform is India's main MOOC
provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) SWAYAM

(D) e-PG pathshala
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(4) Vedabot
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(C) EAGLE
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GENERAL KNOWLEDGE
QU giMiey

Q.171) The first Indian to become a member of
the British Parliament was?

(A) Mahatma Gandhi

(B) Dadabhai Naoroji

(C) Subhas Chandra Bose

(D) B.R. Ambedkar

Q.172) Which was a military title during
Sangam Age?

(A) Poligar

(B) Perumakkal

(C) Enadi

(D) Manigramattar

Q.173) The Directive Principles of State Policy
(DPSPs) in the Indian Constitution were
inspired from which country's Constitution?
(A) United States of America

(B) United Kingdom

(C) Ireland

(D) Canada

Q.174) The highest peak in the Aravalli Range
is__

(A) Mount Abu
(B) Anamudi

(C) Doddabetta
(D) Guru Shikhar

Q.175) Which of the following is classified as a
primary pollutant?

(A) Ozone

(B) Smog

(C) Sulphur dioxide (SO,)

(D) PAN

Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5
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Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

Q.177) Which among the following
organisation released Multidimensional
Poverty Index in India?

(A) NITI Aayog

(B) Ministry of Economic Affairs

(C) National Statistics Office

(D) Ministry of Internal Affairs

Q.178) Who is known as the "Moon Man of
India"?

(A) Dr. K. Sivan

(B) Dr. Mylswamy Annadurai

(C) Dr. Vikram Sarabhai

(D) Rakesh Sharma

Q.179) The difference between the compound
interest and simple interest on 310,000 at 10%
perannum for 2 yearsis__ .

(A)X100

(B) X250
(C)R200
(D)X150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and

0.176) @mpFHwraier CsFw aflenarwimL” (®
TeT 676 BT Ol&mewTL_mL_LiLiH@DI?

(4) 879 Gt 23
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(4) =100

(B) €250

(C) 200

(D) 150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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